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Question Number : 1 Question Id : 753229809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the wrong term in the letter-cluster series given below:

WNGR, CKMO, IHSL, OEYJ, UBEF
Options :

1. ¥ CKMO

2. % THSL

3. ¥ OEYJ

4. * UBEF



Question Number : 1 Question Id : 753229809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferRad S1aR-THg Y&l H TTeld U JTd Hifeie:

WNGR, CKMO, IHSL, OEYJ, UBEF
Options :

1. ¥ CKMO

2. % THSL

3. ¥ OEY]J

4. % UBEF

Question Number : 2 Question Id : 753229810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following letter-cluster series given below:

FLC21, JPG33, ? , RX0O57, VBS43
Options :

1. ¥ NTK41

2. % NTL42

3. ¥ NTK45

4. ¥ NTM44

Question Number : 2 Question Id : 753229810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferRad s1eR-THg SRael ¥ I Ug JTd SIfoid:

FLC21, JPG33, 7 , RXO57, VBS43
Options :

1. % NTK41

2. % NTL42




3. ¥ NTK45
4. %= NTM44

Question Number : 3 Question Id : 753229811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the related word/ letters/ number from the given alternatives.

NaCl : Salt : : HySO4:?
Options :

1. ¥ Acid

2. % Base

3. % Sugar

4. % Water

Question Number : 3 Question Id : 753229811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f&T TTQ fashedl H & TeaifeId Xsc/31&R/ABAT BT AT HY|

NaCl : FH® : : H,SO4:?
Options :

1. 3T

2. % YR

3. %

4. % Ut

Question Number : 4 Question Id : 753229812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the related numbers from the given alternatives.



LHD :321:: XTP:?
Options :
1. % 123
2. % 132
3.9 654
4. % 531

Question Number : 4 Question Id : 753229812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U fas el O 9 Teaiferd Rea &1 g-1d 6|,

LHD :321:: XTP:?
Options :
1. % 123
2. % 132
3. ¥ 654
4. % 531

Question Number : 5 Question Id : 753229813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If in a certain language, SQUABBLE is coded as “76521138”. How is ‘EQUAL’ coded in that code?
Options :

1. % 26523

2. ¥ 86523

3. % 76522

4. % 56523

Question Number : 5 Question Id : 753229813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



gfe foreit Frd UToT o, SQUABBLE ®1+76521138” o &0 H picd faal TR 5139 e H*EQUAL’ DI ol Hicd fobar Sramm
Options :

1. % 26523

2. ¥ 86523

3. % 76522

4. % 56523

Question Number : 6 Question Id : 753229814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a row of children facing north, Rajat is fifteenth from the left. Aman who is thirty from the right end is fourth to the right of Rajat. How many
children are there in the row?

Options :
1. ® 50
2. % 49
3.9 48
4. = 47

Question Number : 6 Question Id : 753229814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g@;ﬁ@va@mﬁﬁﬁwﬁﬁ,maﬁﬁ%ﬁwm%W,@Eﬁ@?ﬁmw%,wa%aﬁ@ﬁﬁw%mﬁrﬁmﬁ
)

Options :
1. ® 50
2. % 49
3.9 48
4. % 47

Question Number : 7 Question Id : 753229815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Chintu, Pintu, Suresh, Ramesh and Mahesh are five friends in a class. Each of them likes a different subject viz. Hindi, English, Maths, Science
and Arts, but not necessarily in the same order. Each of them study in a different class viz. 1, 11, 11, 1V, and V, but not necessarily in the same
order. Pintu studies in class 1 and likes Mathematics subject. The one who likes English subject and studies in class V. Chintu does not like
Science or English subject. Ramesh likes Arts subject and studies neither class I nor class II. Mahesh studies in class IV.

Which is Suresh's favorite subject?
Options :

1. * Science

2. % English

3. #* Hindi

4. *# Scince or Hindi

Question Number : 7 Question Id : 753229815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fefg, flg, TR, YR 3R HeX Ud Hef H Uid I o | 318 U U B 3T el favd Uig § oiY - &<, aifish, 1ford, fasm Sk &,
AfcrT SRt T8 o S Sl | 811 ST T U D ST SIaT H& H Uad g oi 1, 11, 111, 1V, 3R v, dfce oredt a1 foh st v # g | fiie
HefT | T Uadl g 3R S Tl faw Tfrd § | 98 =afad o) st fawa ueie § SR de v & uear g | Rig &1 fagme ar siiei fawy ueig
Te1 8 | TR B et fauy Ui g 3R 98 9 dl H&fl 1 781 Hafl 11§ Uedl & | 7o & v H Ugdl o

P H YT fawg SIF A1 ]2
Options :

1. % fagmH

2. ¢ 3USH

3. % fgdl

4. % fagr a1 figt

Question Number : 8 Question Id : 753229816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two statements are followed by two conclusions numbered I and II. You have to consider these statements to be true, even if they seem to be at
variance with commonly known facts. Decide which of the given conclusions logically follow/s from the given statement.

Statement:



Some board are notice.
All notice are rings.

Conclusions:
(I) Some notice are board.
(IT) No ring is board.

Options :

1. % Only I follow

2. % Only II follows

3. % Both I and II follow

4. #* Neither I nor II follows

Question Number : 8 Question Id : 753229816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad gy & @ Hy= o 7w 8 oo a1e & FAsh 1 9 11 fRT U § 3iueh) 39 Y=l &) I H-H1 8, Hal 81 9 Jagnd awal 9 fie udia
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Options :

1. ¢ $Had [T5HY [ 3IERU Hal §

2. % Had fHY 11 ST HdT &

3. % G fIShY 1 T 11 SFJIR0T 6’ ©

4. % a1 ey 17 8 e 11 sFERu SR 8

Question Number : 9 Question Id : 753229817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Three statements are followed by two conclusions numbered I and II. You have to consider these statements to be true, even if they seem to be at
variance with commonly known facts. Decide which of the given conclusions logically follow/s from the given statement.

Statement:

All kitchen are hall.
Some hall are hotel.
All hotel are guest.

Conclusions:

(D) All hall are guest.
(IT) Some kitchen are hotel.

Options :

1. # Only I follow

2. % Only II follows

3. % Both I and II follow

4. ¥ Neither I nor II follows

Question Number : 9 Question Id : 753229817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferad uy & & sy feu U g e a1e & e 1 9 11 fRT 77U § 3ueh! 39 Syl o T A1 §, Wl 81 d Jagnd a9 fie udta
gid gt feu e fersf & § &1 a1 fepdf 3T 78 2= &1 difthes 0 I SORU B 7 |

HY:

g e ga |

EENNIEENE

gt gl Al |1

e

ORLIREEIGIRE

(1) TS T3 Blea g |

Options :

1. % $Had [T5HY [ 3FIERU Hdl §
2. % Had HY 11 SR Hdl &
3. % G (IShY [ T 11 SFJIR0T 6’ &




4. A1 B 17 8 B 11 SRR Rl §

Question Number : 10 Question Id : 753229818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three statements are followed by three conclusions numbered I, II and III. You have to consider these statements to be true, even if they seem to
be at variance with commonly known facts. Decide which of the given conclusions logically follow/s from the given statement.

Statement:

Some circle are rectangle.
Some square are triangle.
No square are rectangle.

Conclusions:

() All squares are rectangle.
(IT) Some squares are rectangle.
(IIT) No rectangle are square.

Options :

1. % Only I follow

2. % Only II follows

3. ¥ Only III follows

4. % Either I or II follows

Question Number : 10 Question Id : 753229818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had FHY | 38R0 IRl §

2. % I B 11 TRV BT &

3. ¢ $Had fISHY 111 3FTER0T el §

4. % Il FTSHY 1 97 FI5BY 11 S0 Hxal &

Question Number : 11 Question Id : 753229819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the set of numbers that is similar to the following set of numbers.

Given set: (3, 18, 36)
Options :

1. % (2,10, 16)
2.9 (4,24, 48)

3. % (6,42, 48)

4. % (12,72, 96)

Question Number : 11 Question Id : 753229819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I T THE HT T DITor ol 1Y T T8 & T 5 |

feam T 9eE: (3, 18, 36)
Options :

1. % (2,10, 16)

2. (4,24, 48)

3. % (6,42, 48)

4. % (12,72, 96)



Question Number : 12 Question Id : 753229820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the question below, a statement is followed by two conclusions. Study the conclusions and select the correct option as the answer.

Statements:
A>B>C,D>M<K,D>C

Conclusion:
L.C<M
II. B>K

Options :

1. # If only conclusion I is true

2. # If only conclusion II is true

3. # If either conclusion I or II is true

4. « If neither conclusion I nor 11 is true

Question Number : 12 Question Id : 753229820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR T Uy H, YT P YR WR &l sy FpTal 91d € | FISh &7 3178 Y 3R IR & TU H gl fahed BT 797 HY |

DY
A>B>C,D>M<K,D>C

frpy-
.LC<M
II. B>K

Options :

1. # gfe Fad fpy | g8

2. % I Fad sy 1 g0 g

3. % gieara sy 1o 1 T |

4. v gRRTdA ey | IRAE 1 Ta’




Question Number : 13 Question Id : 753229821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the missing number from the given series.

76, 80, 107, 123, ?, 284
Options :
1. ¥ 248
2. % 250
3. % 252
4. = 254

Question Number : 13 Question Id : 753229821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e s, faU 7T e O @ i ug &1 994 H1|

76, 80, 107, 123, 7, 284
Options :
1. ¥ 248
2. % 250
3. % 252
4. % 254

Question Number : 14 Question Id : 753229822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following figure, triangle represents photographer, circle represents fashion photography, hexagon represents sports photography, rectangle
represents editorial photography and square represents wildlife photography.

What does letter ‘C’ represent?



AT AN
D/G \K
Ew ] \L x| z
/l\\N M

Options :

1. # Photographer who do fashion photography and sports photography only

2. ¥ Photographer who do fashion photography and wildlife photography only

3. # Photographer who do fashion photography, editorial photography and wildlife photography only
4. % Photographer who do fashion photography and editorial photography only

Question Number : 14 Question Id : 753229822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad sma #, FYs WIERTHR &1 Ufafferd ST ], 91 BRI WICHITh! &1 Ui $Rdl 8, Yo Wd BRI BT Ufafieid
HAT &, I JUIGH I WU b1 Ufaffeied a1 8 iR a¥f a=goiid Wit &1 ufafafia Har gl

3eR ¢’ frge ufaffia g2




Options :

1. % HICUTHER S Had B BICRTH 3R W BICRTH! Hd §

2. ¢ HIAUTHR Sl Had B BICRTH 3R gIoid BIeRITh! &d &

3. % HICUTHR S had B BIUTR!, YUIGH T HIeUTh! 3R geid BIeRITh! Hd &
4. % TRICHITHR S ad h¥ ISR 3R JUTGHIT HICHITh! Hd &

Question Number : 15 Question Id : 753229823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following figure, triangle represents video games, circle represents music, hexagon represents cell phones, rectangle represents books and
square represents teenagers.

What does letter ‘A’ represent?

Options :

1. ® Teenagers who spend their free time in video games, cell phones and books only
2. ¥ Teenagers who spend their free time in video games, music and books only

3. ® Teenagers who spend their free time in video games and books only

4. ® Teenagers who spend their free time in video games and cell phones only

Question Number : 15 Question Id : 753229823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafafed sma ®, Ry difedr 1 &1 ufafaftia oar g, 33 St &1 Ul 1 €, TS 9d BIF &1 Waffiid &l 5, 3mad
feraral o1 ufafifia o & 3iR arf freiRY 1 ufaffea drar 81

3eR <A frget ufaffia g2

Options :

1. % fPRIR Sl YA Tl 99T Shad difSal T, Id i 3R frarel # fyard &
2. ¢ THRIR S 30T TTelt THY had difSar 11, Tid 3R fHdre | faard &
3. % fHRR S 30T @Il THY Had difsdl 71 3R fearel # fyard g |

4. % fHRIR S 3UAT @Il YU Had difSar T iR I B H f¥ard g

Question Number : 16 Question Id : 753229824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the figure that will replace the question mark (?) in the following figure series.

Options :



@
B
®

Question Number : 16 Question Id : 753229824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I 3BT B g9 DX S FgferiRad spfa @ o uy fag (2) &1 ufaifd s |






Question Number : 17 Question Id : 753229825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From the given alternatives select the one in which the question figure is hidden/embedded.

"

Options :

=i

=




&

Question Number : 17 Question Id : 753229825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fu 7TQ faeent & 9, I 1P o1 99 B 7 uy 3nepfa srafifea / fodt g2

"

Options :




Question Number : 18 Question Id : 753229826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given alternatives select the one which is the mirror image of given Question Figure .

=11 =

Options :




2.

Question Number : 18 Question Id : 753229826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



> @

Question Number : 19 Question Id : 753229827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the number of square in the given figure.



Options :
1. %10
2.¥ 11
3.% 12
4. % 13

Question Number : 19 Question Id : 753229827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 1S 3epTa | ol B T Fid Bl

Options :
1. %10
2.9 11
3. % 12
4. % 13



Question Number : 20 Question Id : 753229828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given alternatives select the one that will complete the question figure.

Options :

%l




-

Question Number : 20 Question Id : 753229828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U fa el O @ 39 fabed &1 AU S Uy 3HThid &l R dR|

7
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Options :

A



4. %
General Awareness
Group Number : 2
Group Id : 75322946
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General Awareness
Section Id : 75322946
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20



Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 75322954
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 753229829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sheesh Mabhal or the 'Palace of Mirrors' in Patiala (Punjab) was built by .
Options :

1. ¥ Mabharaja Harpreet Singh

2. % Mabharaja Virendra Singh

3. ¥ Mabharaja Harbhajan Singh

4. ¥ Maharaja Narinder Singh

Question Number : 21 Question Id : 753229829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TN I8 I1 SO BT Heo ufearar (Gone) H | gRT ST T AT
Options :

1. % RIS gd Rig

2. % BRI dg g

3. % HERIST gvHoH Rig

4. ¥ HERIeN AR Rig

Question Number : 22 Question Id : 753229830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which state is associated with Warli folk paintings?
Options :

1. ¥ Maharashtra



2. % Madhya Pradesh
3. % Himachal Pradesh
4. # Chhattisgarh

Question Number : 22 Question Id : 753229830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
arci die ol o1 ey [P sa A 72
Options :

1. ¢ HERTY

2. % AL YSH

3. % fgmad ue™

4. % FNTE

Question Number : 23 Question Id : 753229831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Radio Broadcasting started in India in the early
Options :

1. % 1920's

2. % Mid 1940's & 1950's

3. % 1940's

4. % Mid 1930's & 1940's

Question Number : 23 Question Id : 753229831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRA H ST TR & E3HTT & GH 1 g8 ATl
Options :

1. % 1920

2. % 1940 3R 1950 & HHA



3. % 1940
4. % 1930 3R 1940 & A

Question Number : 24 Question Id : 753229832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The title of the Maharajadhiraja is associated with which of the following ruler?

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. Yasodharman

2. Chandragupta I

3. Ghatotkacha

4. Samudragupta

Question Number : 24 Question Id : 753229832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HERISITERTS & Ul Fafefead o 9 fbg e 9 deifdd g2
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :
1. TRNYHA

2. I UYH
3. gcihd

4. e

Question Number : 25 Question Id : 753229833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

On January 26, 1950, the Constitution was came into force and Dr. Rajendra Prasad was elected the
Options :

1. # First Vice President of India

2. % First Home minister of India

3. ¥ First President of India

4. # First foreign minister of India

Question Number : 25 Question Id : 753229833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

26 SHAE, 1950 BT I AM AT SR SLICG TG B AT T
Options :

1. ® YR BT JYH JRIFUFA

2. % YRd DI UYH g Tl

3. ¢ YRd BT UYA IPufd

4. % YRJ &1 Yy facwr wHt

Question Number : 26 Question Id : 753229834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following was the fifth Guru of Sikhism?
Options :

1. # Guru Amar Das

2. % Guru Angad Dev

3. % Guru Arjan Dev

4. ¥ Guru Siri Har Krishan

Question Number : 26 Question Id : 753229834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad 7 @ &1 Rrg yd & uied 7% &



Options :

1. % TS 3R TN
2. % ¥ 3G ¢d

3. ¥ % 3o od

4. % TR R PO

Question Number : 27 Question Id : 753229835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The 2021 India-Indonesia CORPAT which took place in July 2021 was which edition of the biannual event?
Options :

1. % 32nd

2. ¥ 36th

3. % 31st

4. % 30th

Question Number : 27 Question Id : 753229835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2021 HRA-SSHIRIET CORPAT ST JaTs 2021 H 31T T, fgaiitics SIS 1 DI 1 W0 T2
Options :

1. % 3297

2. 364l

3. % 314

4. % 304

Question Number : 28 Question Id : 753229836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who is the current CEO of Bharat BillPay?
Options :



1. # AK. Singh

2. % Sudhansu Dhulia
3. % P Ravikrishna

4. ¥ Noopur Chaturvedi

Question Number : 28 Question Id : 753229836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YR fIaU & I Higsil HH 62
Options :

1. % T, Rig

2. % G feram

Question Number : 29 Question Id : 753229837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following laws created a favourable environment for women to secure freedom and self-development?
Options :

1. % Right to Information

2. % Dowry Prohibition Act

3. ® Food Security Act

4. % Policy of Reservation

Question Number : 29 Question Id : 753229837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 forg s = Afgarsii & o Tadadr iR STe-faem &1 QRigd B & e sred uiRax dar fean

Options :
|. % G BT YBR



2.+ ggol Y Af=aH
3. % QT YR UHgH
4. % 3R BT HIfd

Question Number : 30 Question Id : 753229838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The unit of Electromotive force of a cell is
Options :

1. # Joule

2. % Ampere

3. #* Dyne

4. ¥ Volt

Question Number : 30 Question Id : 753229838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Jd P AT TA DSBS &I
Options :

1. % 9d

2. % TR

3. % SIgd

4.« q

Question Number : 31 Question Id : 753229839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What are the pores in a leaf called through which respiratory exchange of gases takes place?
Options :

1. ¥ Vacuoles

2. % Lenticels



3. % Stomata
4. % Xylem

Question Number : 31 Question Id : 753229839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tt & 3 sl ol R e § oo gy AT ot - e g g
Options :

1. % qgpafid

2. % difeqd

3. ¥ LA

4. % STZAH

Question Number : 32 Question Id : 753229840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the manufacture of steel, Iron ore, coking coal and lime stone are required in the ratio of approximately
Options :

1. % 2:4:1

2. % 1:4:2

3. % 4:3:1

4, ¥ 4:2:1

Question Number : 32 Question Id : 753229840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i & A A, A8 3, DifhTT Hid 3R A5H Wi B ATHT & U H Sa=gddl gl g |
Options :
1. % 2:4:1
2. % 1:4:2
3. % 4:3:]




4, % 4:2:1

Question Number : 33 Question Id : 753229841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
refers to the existence of more than one level of government in the country.
Options :
1. % Socialism
2. ¥ Federalism
3. # Secularism

4. ¥ Democracy

Question Number : 33 Question Id : 753229841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

| WA WBR P TP W e TR P 3if%Td Bl gl
Options :

1. % gHNSAIG

2. ¢ gUdlq

3. % YR

4. % b

Question Number : 34 Question Id : 753229842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The image formed on the retina of the human eye is
Options :

1. # Virtual and Erect

2. % Real and Erect

3. % Virtual and Inverted

4. ¥ Real and Inverted



Question Number : 34 Question Id : 753229842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g @ IR I aranufaferd . |iargl
Options :

1. % ST SR Hlem

2. % RAfdD SR e

3. % STHIR 3R Il

4. ¢ ARATGP 3R I

Question Number : 35 Question Id : 753229843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is surplus budget?

Options :

1. #® Income and expenditure are equal
2. ¥ Revenue more than the expenditure
3. # Expenditure more than revenue

4. ® Revenue less than expenditure

Question Number : 35 Question Id : 753229843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR FoIc T 82

Options :

1. % 31T 3R T IR &

2. v Y Y 3H{Yh o

3. % Yo 9 3feh Y

4. % Y Y HY IO




Question Number : 36 Question Id : 753229844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the full form of ADCCI?

Options :

1. # Asian Chamber of Commerce and Industry

2. % American Chamber of Commerce and Industry
3. % Abu Dhabi Chamber of Commerce and Industry

4. % Abu Dhabi Chamber of commercial and industrial

Question Number : 36 Question Id : 753229844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TSI (ADCCI) BT B BIH 1 82
Options :

1. % TR deR 3t BT TS S

2. % IMRHT deRr 3 HIHY TS 8]

3. ¢ 3 YTell daR T B U8 TS

4. % 3q YT FeR 3T HARTS TS TSI

Question Number : 37 Question Id : 753229845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following state of India, you will find the natural phenomenon called Chir Batti?
Options :

1. ¥ Gujarat

2. % Karnataka

3. % Kerala

4. % Tamil Nadu

Question Number : 37 Question Id : 753229845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

YRA & FEfaRad o ¥ fog Ia o st IR axit e Tipfae ge1 gaq o fiai
Options :

1. ¢ I[SRId

2. % FlcH

3. % Hd

4. % qrAQrg

Question Number : 38 Question Id : 753229846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who has been awarded the 2019 Golden Foot award ?
Options :

1. # Lionel Messi

2. % Wayne Rooney

3. % Neymar

4. ¥ Luka Modric

Question Number : 38 Question Id : 753229846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2019 Tee Pe [REHR I ford JeTid foa T g2
Options :

1. % forgHe At

2. % o &

3. % 9AR

4. ¢ qHI HfgD

Question Number : 39 Question Id : 753229847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Padma Sachdeyv is associated with which of the following profession?
Options :

1. ¥ Poet, writer

2. # Politician

3. # Journalist

4. % Singer

Question Number : 39 Question Id : 753229847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U= Faga fafaRad & 4 fog U § Heifia 82
Options :

1. ¢ Bid, TGP

2. % ol

3. % JIbR

4, % Th

Question Number : 40 Question Id : 753229848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Chandrakanta, written by , 1s considered to be the first work of prose in Hindi.
Options :

1. # Mahadevi Varma

2. ¥ Devaki Nandan Khatri

3. % Sumitranandan Pant

4. ¥ Maithili Sharan Gupt

Question Number : 40 Question Id : 753229848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&R1 forfad <epial &I &<t & 7o &) useh Sfd AT ST 8|

Options :



1. % Hgled! aaf

2. ¢ TaAP! A @Al
3. % e ud
4. % TS RO I

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Number : 41 Question Id : 753229849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Arithmetic Ability

3
75322947
0

0

No

No

0

20

No

Arithmetic Ability

75322947
1

Online
Mandatory
20

20

20

Yes

1
75322955
Yes



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

1 1 1
Ifxs +ys=6andxz —ys=2.xy = ?
Options :

1. % 1331
2. % 81
3.¥ 512
4. % 64

Question Number : 41 Question Id : 753229849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X et s s
afe xs +y3=6Hx3 —ya=2,xy =72

Options :
1. # 1331
2. % 81
3.¥ 512
4. % 64

Question Number : 42 Question Id : 753229850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What value will come in place of question mark (?) in the following question?

)+ 40)+ 2+ 5(2)=7 -4

Options :



1. ¥ 24
2. % 22
3. % 21
4, % 25

Question Number : 42 Question Id : 753229850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAgferfad uy o usarae foeg (2) & R IR T HE ST

Q)+ 4Q)+ 2+ 5)=7 -4

Options :
1. ¥ 24
2. % 22
3. % 2]
4, % 25

Question Number : 43 Question Id : 753229851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What value will come in place of question mark (?) in the following question?

93 + (22 +39x2)11=2

Options :
1. % 625
2. %700
3. % 765
4. ¥ 1331



Question Number : 43 Question Id : 753229851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAoferfad uy o usarae fmg (2) & R IR T HE ST

93 + (22 +309x2)11=2

Options :
1. ® 625
2. % 700
3. % 765
4.+ 1331

Question Number : 44 Question Id : 753229852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the greatest number which divides 882, 396 and 1404 exactly.
Options :

1. % 22

2.9 18

3. % 16

4. % 14

Question Number : 44 Question Id : 753229852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JE TeY S TS 1 B3 Sl 882, 396 MR 1404 P T aRe faHTiod HRar gl
Options :

1. % 22

2.9 18

3. % 16




4. % 14

Question Number : 45 Question Id : 753229853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the set of first 100 multiples of 5, P is the average of the multiples on the odd places and Q is the average of the multiples on the even places.
By what number, the value of Q is more than P?

Options :
1.¥5
2. %10
3.% 25
4. % 125

Question Number : 45 Question Id : 753229853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3%;‘5’%@100110@%1413&11111PWW%WW%%@?QWW%WW%%QWW,P@WE’@T@
0

Options :

1.¥5

2. %10

3.% 25

4, % 125

Question Number : 46 Question Id : 753229854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

To increase the revenue from the first-class fare, the railways decrease the first-class fare by 30 percent. As a result, the revenue from the first-
class fare increased by 26 percent. What is the percentage increase in first-class passengers?

Options :
1. * 50 percent
2. ¥ 80 percent



3. % 100 percent
4. * 65 percent

Question Number : 46 Question Id : 753229854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gyH Juft & 1T T IoRg T & fore Yara ud 9oft & fH # 30 Ufawrd &) o) ol || dioidd, Uud Juft & favre 3 Ioia | 26
Ufo=Id @1 g g5 | U4 9071 & a1t | wfawrd gfs | g?

Options :

1. % 50 gfc=rd

2. ¢ 80 Ufdrd

3. % 100 Ufaerd

4. % 65 gfaerd

Question Number : 47 Question Id : 753229855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A distributed Rs.2500 among his three friends B, C and D such that B received 40 percent of the amount, C received 60 percent of remaining
amount and rest of the amount is received by D. What is the share of D?

Options :

1. ® Rs.700
2. ¥ Rs.600
3. * Rs.500
4. % Rs.400

Question Number : 47 Question Id : 753229855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 30 @ GGl B, € 3R D & &1 2500 U &1 fAaRu1 30 YR BT & fob B 1 MR BT 40 UFARIT UT G311, C 1 AW AR BT 60
=T UTed g31T SR =Y M D &1 Ul g3 | D BT Tt fava 82

Options :

1. ® 700 ®UQ




2. ¥ 600 TUY
3. % 500 _0Y
4. % 400 U

Question Number : 48 Question Id : 753229856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Average cost price of items A and B is Rs.400. A and B are sold at 10 percent and 20 percent profit respectively and total selling price of A and B
1s Rs.918, then find the cost price of item B?

Options :

1. % Rs.360
2. % Rs.480
3. % Rs.190
4. ¥ Rs.380

Question Number : 48 Question Id : 753229856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I A 3R a5 B P 3T AT 400 TUA G| A 3R B B HHT: 10 WAL 3R 20 UA=Id & ATH W ST ST 8 TUT A 3R B BT H [dehd
T 918 ¥ g, 1 9] B &1 AN Hed JTd PRI

Options :

Question Number : 49 Question Id : 753229857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

After selling 17 balls for Rs.720 the loss is equal to the cost price of 5 balls. What is the cost price of 1 ball?
Options :

1. % Rs.45



2. % Rs.50
3. % Rs.60
4. % Rs.55

Question Number : 49 Question Id : 753229857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

17 & Y 720 TUY H S W, 5 Ta BT AN Hed & sRTaR BT Sl 21 1 7G BT ANTd Hed &1 22
Options :

1. % 4500

2. % 50 F0Y

3.¢ 60 T

4. % 55FQY

Question Number : 50 Question Id : 753229858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On a tree, there are some parrots and pigeons in the ratio of 7 : 9. After an hour 8 parrots fly and 6 pigeons and 10 sparrows come on the tree. The
ratio of parrots and pigeons now is 1 : 4. Now, what is the ratio of parrots to sparrows?

Options :
l.%1:2
2.9 3:5
3.% 4:5
4. % 1:1

Question Number : 50 Question Id : 753229858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THUS IR 7: 9% U H $S dld AR HIR g | TH G & 91G § Ald ISd & 3R 6 HYAR 3R 10 AT IS TR TSIl § | Al 3R B!
T U 31d 1:4 B | 3fd, A 3R TR BT SuTd 7 82

Options :

I.%1:2




2.%3:5
3.% 4:5
4, % 1:1

Question Number : 51 Question Id : 753229859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the ratio of the present age of A to B is 3 : 4 and the ratio of the present age of B to C is 6 : 5. If the present age of C is 20 years, then what is
the present age of A?

Options :

1. # 22 years
2. % 16 years
3. % 20 years
4. ¥ 18 years

Question Number : 51 Question Id : 753229859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

H%AeﬁgBﬁa?fqﬂ&nqwaacnm . 4B TUTB 3R C BT q0AHM TG BT U 6 : 5 51 TG C B I 3 20 A &, Al A BT I
S R 57

Options :

1. % 2295
2. % 1694
3. % 2099
4. ¢ 1894

Question Number : 52 Question Id : 753229860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A certain sum yields Rs. 840 more simple interest if it is invested for two years at 18 percent p.a. than at 12 percent p.a. Find the principal sum.

Note: For this question, discrepancy is found in question/answer. So,this



question 1s 1gnored for all candidates.
Options :

1. 7000

2. 8500

3. 8000

4. 7500

Question Number : 52 Question Id : 753229860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Te P IR TR 840 S0 4R WILROT TS BT WG Bt § Afe WILROT <1t Bt &= iy a8 12 =i § 18 Ti=ra 81 5 | Jeted fy
1A BT

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. 7000

2. 8500

3. 8000

4. 7500

Question Number : 53 Question Id : 753229861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the speed of a train is 72 kmph. then how many kilometers are covered by it in 10 minutes and 35 second ?
Options :

1.¥ 12.7

2. % 182

3. % 156

4. % 17.5



Question Number : 53 Question Id : 753229861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g ¢ &1 71fd 72 fopeft ufd € gt 10 f7e 35 Ydhs o 71 g1 favamit gl ) o &1 o1 Wbl | 2
Options :

1.¥ 127

2. % 18.2

3. % 15.6

4. % 17.5

Question Number : 54 Question Id : 753229862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man travels the first part of his journey at 20 km/h and the next at 70 km/h, covering the entire journey at an average speed of 50 km/h. If he
covered 42 km at the rate of 70 km/h, then find the distance covered at 20 km/h?

Options :
1. ¥ 8 km
2. % 4 km
3. % 6km
4. % 3 km

Question Number : 54 Question Id : 753229862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ueh Al = (U ATAT b1 ggal YT 20 fosdi/eic ot i I qut SRTar Ui 70 fhdl/ec o 1fa @ 9 fasar | 394 Ot amn so fabwlee ot
3ra I & o B | Af @ 70 forrl/eer ot aR ¥ 42 fmht Bt g 9a xar 7, @ 20 fatfi/der @1 @t ifa § 99 gt 91 S|

Options :

1. ¢ g fpul
2. % 4fpet
3. % 6 fopuit
4. % 3 foordt



Question Number : 55 Question Id : 753229863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Eighteen taps can fill a water tank in 20 minutes. How many taps of the same

; ; 1 3 ;
capacity are required to fill up ;d of the same water tank in 15 minutes?

Options :
1. %6
2.¥°8
3.% 12
4, %9

Question Number : 55 Question Id : 753229863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

18 7T 20 THE H T Tl I Eohl il AT Thd g1 15 THAC & TAT =T ShT Eahr
a:rwﬁgrég T 3 T S &7HaT ¥ e AT T 2

Options :
1. %6
2.9 8
3. % 12
4. %9

Question Number : 56 Question Id : 753229864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P, Q, R worked together for 10 days and received Rs.24000 as wages and they share the wages in the ratio of 5 : 2 : 1 respectively. If P alone does
the work, then in how many days he can complete the work?

Options :
1.¥ 16



2. % 15
3. % 12
4. % 18

Question Number : 56 Question Id : 753229864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P, Q, R 7 10 f&H o 1T Ues A1 &1 oham SR Horgdt & U H 24000 S0 I fhT 3R 3 SHHRE: 5 : 2 : 1 % SFUTd T Holg! A1l hRd 6 |
g P 3ol BT BT 7, Al 98 BT B! foba- ol H IRT HR bl 82

Options :

1.¥ 16

2. % 15

3. % 12

4.% 18

Question Number : 57 Question Id : 753229865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A person sold ice cream in conical cups such that he filled the cup with the ice cream and made a hemispherical ball with the ice cream above the
cup. The radius of both the cup and ball is 7 cm, and the total height of both is 20 cm. What is the volume of an ice cream sold by the person?

Options :

1. % 1496 cm®
2. % 1146 cm?
3. % 1296 cm®
4. 1386 cm®

Question Number : 57 Question Id : 753229865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U% Afdd 3 YHTHR HUI H AMITTHIH 39 UBR 99dT § [ I HU DI EIDH A HR 7 3R U H HUR 3M3THhIH I T Tl B
T g1 off | U 3R T 31 bt Fioar 7 3t B, SR I Y a1 e 20 Tt B 1 St g1 Sl 718 Ueh M3k Bt AT fbe B2

Options :




1. % 1496 T
2. % 1146 JHB
3. % 1206 A1
4. ¥ 1386 JHP

Question Number : 58 Question Id : 753229866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The perimeter of a rectangle and a square is 160 cm each. If the difference between their areas is 600 cm?. Find the area of the rectangle.
Options :

1. ® 900 cm?
2. ¥ 1000 cm?
3. % 1200 cm?
4. % 800 cm?

Question Number : 58 Question Id : 753229866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 3R a7 H U &1 aRMY 160 IR B 1 afe I &7wall & & o1 3idR 600 FHI2 31 A 310d BT 876 F1d iU
Options :

1. % 900 THI2

2. ¢ 1000 A2

3. % 1200 A2

4. % 800 YA

Question Number : 59 Question Id : 753229867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The given pie-chart represents the distribution of the percentage of sales of a particular brand of car from five showrooms A, B, C, D and E
during 2018. The total number of cars sold during that year from the five showrooms is 5000.



What is the total number of cars sold from the showrooms B and D?
Options :
1. % 1450
2. ¥ 1550
3. % 1650
4. % 1750

Question Number : 59 Question Id : 753229867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
foar mar urs-=né 9 2018 % SR U™ RIRSH A, B, C, D 3R E § BR & U AR §ic & 9wt & ufawd fAarur &1 g1 39 a9 & gRM
Uil QRed I 9T 718 BRI B Hdl WA 5000 ¢ |




TREH B 3R D J I 718 BRI 1 el TS J1d PifoTd |
Options :
1. % 1450
2. % 1550
3. % 1650
4. % 1750

Question Number : 60 Question Id : 753229868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following bar graph shows the number of students placed in six companies from a college in 2021.
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If 72 students remained unplaced, then what percent of students placed in HCL from the college in 2021?
Options :

1. % 22 percent

2. % 20 percent

3. % 12.5 percent

4. ¥ 15 percent

Question Number : 60 Question Id : 753229868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 61 Question Id : 753229869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
One part of the sentence below may contain an error. Identify the part. If there is no error, choose ‘No error’.

Unconditional cash support offer all households a choice to spend money the way they want, on what they want.
Options :

1. ¥ Unconditional cash support offer all households

2. * achoice to spend money the way

3. * they want, on what they want.

4. * No error.

Question Number : 61 Question Id : 753229869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
One part of the sentence below may contain an error. Identify the part. If there is no error, choose ‘No error’.



Unconditional cash support offer all households a choice to spend money the way they want, on what they want.
Options :

1. ¥ Unconditional cash support offer all households

2. % a choice to spend money the way

3. # they want, on what they want.

4. ® No error.

Question Number : 62 Question Id : 753229870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
One part of the sentence below may contain an error. Identify the part. If there is no error, choose ‘No error’.

During this period last year, there was a nationwide lockdown following the outbreak of the coronavirus disease.
Options :

1. # During this period last year, there was

2. % anationwide lockdown following the

3. % outbreak of the coronavirus disease.

4. ¥ No error.

Question Number : 62 Question Id : 753229870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
One part of the sentence below may contain an error. Identify the part. If there is no error, choose ‘No error’.

During this period last year, there was a nationwide lockdown following the outbreak of the coronavirus disease.
Options :

1. # During this period last year, there was

2. % a nationwide lockdown following the

3. # outbreak of the coronavirus disease.

4. % No error.

Question Number : 63 Question Id : 753229871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute the underlined
segment, select ‘No improvement’.

Materials usually look different in each other.

Options :

1. # different in other.

2. ¥ different from each other.
3. % different among each other.

4. ¥ No substitution required.

Question Number : 63 Question Id : 753229871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute the underlined
segment, select ‘No improvement’.

Materials usually look different in each other.

Options :

1. # different in other.

2. ¥ different from each other.
3. # different among each other.

4. % No substitution required.

Question Number : 64 Question Id : 753229872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the bracketed part in the given sentence. If there is no need to substitute the bracketed part, select
‘No improvement’.

(I cannot but study) for this exam - it counts for half of our grade!
Options :

1. # I cannot study



2. # but I cannot study
3. % I cannot study but

4. ¥ No improvement.

Question Number : 64 Question Id : 753229872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the bracketed part in the given sentence. If there is no need to substitute the bracketed part, select
‘No improvement’.

(I cannot but study) for this exam - it counts for half of our grade!
Options :

1. # I cannot study

2. # but I cannot study

3. % [ cannot study but

4. ¥ No improvement.

Question Number : 65 Question Id : 753229873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Among the kinds, the commonest is black or red ants.
Options :

1. % score

2. % Jots of

3. % separate

4. ¥ various

Question Number : 65 Question Id : 753229873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.



Among the kinds, the commonest is black or red ants.
Options :

1. % score

2. % Jots of

3. % separate

4. ¥ various

Question Number : 66 Question Id : 753229874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blanks.

Wait until you the new Bajaj scooters. They’1l your socks off!
Options :

1. # try, kicked

2. % tried, knock

3. % trying, kicking

4. ¥ try, knock

Question Number : 66 Question Id : 753229874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blanks.

Wait until you the new Bajaj scooters. They’ll your socks off!
Options :

1. * try, kicked

2. % tried, knock

3. # trying, kicking

4. ¥ try, knock

Question Number : 67 Question Id : 753229875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blanks.

In Kerala, students and individuals abroad for higher studies or jobs and for whom a vaccination certificate is necessary, being
given Covishield vaccine.

Options :

1. # gone, was
2. % went, are
3. % going, are

4. # going, was

Question Number : 67 Question Id : 753229875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blanks.

In Kerala, students and individuals abroad for higher studies or jobs and for whom a vaccination certificate is necessary, being
given Covishield vaccine.

Options :

1. # gone, was
2. % went, are
3. ¥ going, are

4. % going, was

Question Number : 68 Question Id : 753229876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, there are six sentences marked S1, S6, P, Q, R, and S. The positions of S1 and S6 are fixed. You are required to choose
one of the four alternatives which would be the most logical sequence of the sentence in the passage.

S1. Local industries often

P. protest the high salaries

Q. that this will unreasonably raise
R. arguing vehemently



S. offered by multinational firms
S6. all wages to an excessive level.

Options :

1. # RQPS
2. ¥ PSRQ
3. ¥ SRQP
4. ¥ PRSQ

Question Number : 68 Question Id : 753229876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, there are six sentences marked S1, S6, P, Q, R, and S. The positions of S1 and S6 are fixed. You are required to choose
one of the four alternatives which would be the most logical sequence of the sentence in the passage.

S1. Local industries often

P. protest the high salaries

Q. that this will unreasonably raise
R. arguing vehemently

S. offered by multinational firms
S6. all wages to an excessive level.

Options :

1. # RQPS
2. ¥ PSRQ
3. % SRQP
4. ¥ PRSQ

Question Number : 69 Question Id : 753229877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym for the given word.

Wily
Options :
1. # Fluke



2. % Scald
3.9 Sly
4. % Stumble

Question Number : 69 Question Id : 753229877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym for the given word.

Wily
Options :

1. # Fluke
2. % Scald
3. ¥ Sly

4. % Stumble

Question Number : 70 Question Id : 753229878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym for the given word.

Overlook
Options :

1. ¥ Condemn
2. % Worsen
3. # Flourish

4. ® Ignore

Question Number : 70 Question Id : 753229878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym for the given word.



Overlook
Options :

1. ¥ Condemn
2. % Worsen
3. # Flourish

4. % Ignore

Question Number : 71 Question Id : 753229879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the INCORRECTLY spelt word.
Options :

1. ¥ plentious

2. # precipice

3. # replenish

4. % jeopardize

Question Number : 71 Question Id : 753229879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the INCORRECTLY spelt word.
Options :

1. ¥ plentious

2. # precipice

3. #* replenish

4. # jeopardize

Question Number : 72 Question Id : 753229880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the CORRECTLY spelt word.
Options :



1. # Courious
2. * Cuorious
3. % Curious

4. % Cureious

Question Number : 72 Question Id : 753229880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the CORRECTLY spelt word.
Options :

1. # Courious

2. # Cuorious

3. % Curious

4. % Cureious

Question Number : 73 Question Id : 753229881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the four given options, select the one that best expresses the meaning of the idiom/phrase.

Ignorance is bliss.

Options :

1. # To want something that has been denied.

2. # To have passion underneath a calm expression.

3. % To gain attention and be the topic of conversation.

4. ¥ To remain ignorant of things that may cause stress.

Question Number : 73 Question Id : 753229881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the four given options, select the one that best expresses the meaning of the idiom/phrase.

Ignorance is bliss.



Options :

1. #® To want something that has been denied.

2. # To have passion underneath a calm expression.

3. # To gain attention and be the topic of conversation.

4. ¥ To remain ignorant of things that may cause stress.

Question Number : 74 Question Id : 753229882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the four given options, select the one that best expresses the meaning of the idiom/phrase.

Back to square one.

Options :

1. # To come back home.

2. # To attain the top position again.

3. # To be in the company of loved ones.

4. ¥ To start something again.

Question Number : 74 Question Id : 753229882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the four given options, select the one that best expresses the meaning of the idiom/phrase.

Back to square one.

Options :

1. # To come back home.

2. # To attain the top position again.

3. % To be in the company of loved ones.

4. ¥ To start something again.

Question Number : 75 Question Id : 753229883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the word which means the same as the group of the words given.

A person who loves books.
Options :

1. # Cannibal

2. # Teacher

3. % Biblioclast

4. ¥ Bibliophile

Question Number : 75 Question Id : 753229883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of the words given.

A person who loves books.
Options :

1. # Cannibal

2. # Teacher

3. % Biblioclast

4. ¢ Bibliophile

Sub-Section Number : 2
Sub-Section Id : 75322957
Question Shuffling Allowed : Yes

Question Id : 753229884 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (76 to 80)
Read the following passage and answer the questions below.

The pandemic’s second wave may have subsided but hopes of a smooth rebound in the economy in tandem with easing restrictions remain
muddled, with the inflation numbers for May compounding the problem. The soaring pace of rising prices, both retail and wholesale, in the
month that saw widespread lockdown-like restrictions, has come as a negative surprise. Inflation based on the Wholesale Price Index is reckoned
to have hit a 25-year record of nearly 13 percent, while retail inflation touched a six-month high of 6.3 percent. While runaway fuel prices, that
include high excise duties and taxes, were a key factor in driving up both the inflation indices, they were not the only ones at work.



Retail inflation in food hit a six-month high of 5 percent, from barely 2 percent in April, with pulses and eggs as well as edible oils leading the
surge. ‘Fuel and light’ inflation hit 11.6 percent, the highest in over nine years, and no respite is in sight on this front as pump prices for petrol
raced past Rs.100 a litre in even more parts of the country this month. Diesel has also crossed the century mark in Rajasthan’s Sri Ganganagar,
where freight costs add up on top of State and central taxes. Even if one were to discount food and fuel prices, core inflation has crossed the 6
percent mark for the first time in 31 months and is estimated at 6.6 percent.

Reacting to the April retail inflation print of 4.3 percent, after averaging a steep 6.2 percent through 2020-21, the RBI Governor had remarked
earlier this month that it brought some relief and ‘elbow room’ for sticking with growth-supportive policy. If anything, May’s inflation prints
leave no such room for manoeuvre. Though the bank’s Monetary Policy Committee may not switch away from its dovish policy, no further
easing of interest rates can be expected at these price levels. Most economists expect inflation to remain higher than the average 5.1 percent
estimated by the central bank for this year.

Sub questions

Question Number : 76 Question Id : 753229885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the given passage, most economists expect inflation to remain
Options :

1. # higher than the average 6.3 percent

2. # lower than the average 5.1 percent

3. % higher than the average 5.1 percent

4. ® lower than the average 4.9 percent

Question Number : 77 Question Id : 753229886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the given passage, retail inflation in food has hit
Options :

1. ¥ A six-month high.

2. # A three-month high.

3. # A six-month low.

4. % A three-month low.

Question Number : 78 Question Id : 753229887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



According to the given passage, which of the following statements is incorrect?
Options :

1. # Inflation based on the Wholesale Price Index is reckoned to have taken a hit.
2. ¥ Runaway fuel prices don’t include high excise duties and taxes.

3. # Diesel has also crossed the century mark.

4. % Most economists expect inflation to remain higher than the average 5.1 percent.

Question Number : 79 Question Id : 753229888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Even if one were to discount food and fuel prices, then still, the core inflation has crossed the mark
Options :

1. ® 5.1 percent

2. ¥ 6 percent

3. % 6.2 percent

4. ® 11.6 percent

Question Number : 80 Question Id : 753229889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does the word ‘Manoeuvre’ mean in the given passage?
Options :

1. ® the denial and rejection of a doctrine or belief.

2. % an increase by natural growth or addition.

3. % a state or condition markedly different from the norm.

4. ¥ a movement or set of movements needing skill and care.

Question Id : 753229884 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (76 to 80)
Read the following passage and answer the questions below.

The pandemic’s second wave may have subsided but hopes of a smooth rebound in the economy in tandem with easing restrictions remain



muddled, with the inflation numbers for May compounding the problem. The soaring pace of rising prices, both retail and wholesale, in the
month that saw widespread lockdown-like restrictions, has come as a negative surprise. Inflation based on the Wholesale Price Index is reckoned
to have hit a 25-year record of nearly 13 percent, while retail inflation touched a six-month high of 6.3 percent. While runaway fuel prices, that
include high excise duties and taxes, were a key factor in driving up both the inflation indices, they were not the only ones at work.

Retail inflation in food hit a six-month high of 5 percent, from barely 2 percent in April, with pulses and eggs as well as edible oils leading the
surge. ‘Fuel and light’ inflation hit 11.6 percent, the highest in over nine years, and no respite is in sight on this front as pump prices for petrol
raced past Rs.100 a litre in even more parts of the country this month. Diesel has also crossed the century mark in Rajasthan’s Sri Ganganagar,
where freight costs add up on top of State and central taxes. Even if one were to discount food and fuel prices, core inflation has crossed the 6
percent mark for the first time in 31 months and is estimated at 6.6 percent.

Reacting to the April retail inflation print of 4.3 percent, after averaging a steep 6.2 percent through 2020-21, the RBI Governor had remarked
earlier this month that it brought some relief and ‘elbow room’ for sticking with growth-supportive policy. If anything, May’s inflation prints
leave no such room for manoeuvre. Though the bank’s Monetary Policy Committee may not switch away from its dovish policy, no further
easing of interest rates can be expected at these price levels. Most economists expect inflation to remain higher than the average 5.1 percent
estimated by the central bank for this year.

Sub questions

Question Number : 76 Question Id : 753229885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the given passage, most economists expect inflation to remain
Options :

1. # higher than the average 6.3 percent

2. # lower than the average 5.1 percent

3. % higher than the average 5.1 percent

4. # lower than the average 4.9 percent

Question Number : 77 Question Id : 753229886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the given passage, retail inflation in food has hit
Options :

1. ¥ A six-month high.

2. # A three-month high.

3. # A six-month low.

4. % A three-month low.



Question Number : 78 Question Id : 753229887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the given passage, which of the following statements is incorrect?
Options :

1. # Inflation based on the Wholesale Price Index is reckoned to have taken a hit.
2. ¥ Runaway fuel prices don’t include high excise duties and taxes.

3. # Diesel has also crossed the century mark.

4. % Most economists expect inflation to remain higher than the average 5.1 percent.

Question Number : 79 Question Id : 753229888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Even if one were to discount food and fuel prices, then still, the core inflation has crossed the mark
Options :

1. #® 5.1 percent

2. ¥ 6 percent

3. # 6.2 percent

4. % 11.6 percent

Question Number : 80 Question Id : 753229889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does the word ‘Manoeuvre’ mean in the given passage?
Options :

1. # the denial and rejection of a doctrine or belief.

2. # an increase by natural growth or addition.

3. # astate or condition markedly different from the norm.

4. ¥ a movement or set of movements needing skill and care.
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Question Number : 81 Question Id : 753229890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FfRad o O "weeare * H $IF-91 99 62
Options :

1.« d¥Y YA

2. ® ST THIY



3. % HHYRY JAY
4. % g Oy

Question Number : 81 Question Id : 753229890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=fafed § @ wrewe  § HH-91 9HR 82
Options :

1. ¢ d¥Y JHY

2. % JfUIHId THIY

3. % HHYRY T

4. % fg1 9u™

Question Number : 82 Question Id : 753229891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFefafed o @ duad Wrsq &1 =o BIfse-
Options :

1. * gHI

2. ¢ fhars

3. % fUaf

4. % giddh

Question Number : 82 Question Id : 753229891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR § & dagd <Teq T 0 HIfSTT-
Options :

1. % gHNT

2. ¢ fohars

3. % foef




4. % g

Question Number : 83 Question Id : 753229892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFfEd & 9 difier Teq 1 90 BifeTe-
Options :

1. # dHA

2. % Y

3.9 YAdq

4. % Q¥ddh

Question Number : 83 Question Id : 753229892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFffead & 9 e Weg &1 99 HifoTT-
Options :

1. ® ®HA

2. % Y4

3. % YdAdq

4. % QP

Question Number : 84 Question Id : 753229893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 84 Question Id : 753229893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=faRad & T SH-91 a1 qabIiere [ohdT 1 3Tl 87
Options :

1. ¢ 3 UGHR T 5 |
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4. % 3519 g faererg |

Question Number : 85 Question Id : 753229894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frefafed & 3 S14-91 2rea "3Rvg" 1 guigard T8 82
Options :

1. % fafo=

2. % SA

3. % DM

4, ¢ AHYg

Question Number : 85 Question Id : 753229894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 86 Question Id : 753229895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 86 Question Id : 753229895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 87 Question Id : 753229896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % HAdst

2. ¢ Wrifaqa

3. % gl



4. % Trff

Question Number : 87 Question Id : 753229896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FfaRad o ¥ iR o1 fady e $H-91 52
Options :

1. % Hesl

2. ¢ Wrifagy

3. % Gl

4. % Trff

Question Number : 88 Question Id : 753229897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T 1T aTeRIT=T & foTT Ueh Xsg b1 T HITOL-

qdP 1Y THASR a1 S=aTar T4
Options :

1. % quIfA®

2. % g9

3. ¢ ggilld

4. % g&Y

Question Number : 88 Question Id : 753229897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T TTT aTeRIieT o foTT Ueh Req T =T HITTT-

g9 1Y HAH TR ST T
Options :

1. % quIfD



2. % g
3. TG
4. % &Y

Question Number : 89 Question Id : 753229898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FEARIRIT T ¥ HH-91 a1 8geqHe YAdId B 3aTeRUl 67
Options :

1. % & d P IR 3T TT I

2. % YR{Id: 98 HA XHd ST |

3. % g 3} W WIHR AT B |

4. ¢ Tfe Afed A ez o Sar at & It wndl & Srawy e

Question Number : 89 Question Id : 753229898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifead o § SH-I1 9T YgRgHE UAPTA BT IeTexUT 872
Options :

1. % o Jd DI TR 3T T BRI |

2. % GRYd: 98 o Whd SITE |

3. % g 3 T @R TR |

4. ¢ Tfe Afd 7 ez fear giar Y & S9! Wt & S/a=g Iadr|

Question Number : 90 Question Id : 753229899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fEfaRad A T Uhae Wsg BT II Hifole-
Options :

1. % qH

2. % 3l




3. ¥ gD
4. % G

Question Number : 90 Question Id : 753229899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fEfaRad H T T e &1 I9 Hifole-
Options :

1. % Q¥

2. % 3

3. ¥ gD

4. % g

Question Number : 91 Question Id : 753229900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o | O fasares &1 994 Pifve-
Options :

1. % 37T B guf &Y 3R B e |

2. ¢ ST S T B |

3. % S a1 ol o ST AT He=T HoRT|
4. % gl dOR g SIef, Tt at o Tret St

Question Number : 91 Question Id : 753229900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fEfeiRad & & foyared &1 =g SifeTe-
Options :

1. % 30T BT guf &Y 3R &R SIaf|

2. ¢ ST S T BIeH |

3. % 3T a1 dl WY ST T He=T Hoi |




4. % Sedl IR 1 STef, e df & Tl st

Question Number : 92 Question Id : 753229901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=feRad & T R[S adi- arel a1 9a HIfoTe-
Note: For this question, discrepancy 1s found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. GhRI BT IR [Sepd B HRAT ol Argd|

2. T 39 9T I 3T T

3. I TRTHIT d-Uf=Id 3ich el |

4. 39 U1 H QIAdmTeH Wi &1 Ao g

Question Number : 92 Question Id : 753229901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fmfeRad & ¥ 3R adi! aTdl aTed $T 99 Pifore-
Note: For this question, discrepancy i1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. G =T 1 1R [Sepd B HRAT el argd|

2. B 39 9HT A @1 Tl

3. I A RTA-Ul=Id 3idh et |

4. 39 U § A Tei ¥l &1 feur g1

Question Number : 93 Question Id : 753229902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
frefoiad 7§ forg gerar &1 sred o &1 T 72
Options :

1. ¢ qPI-§-gP! araT|

2. % e | gid S

3. % THI-T SdTd T

4. % SR IS

Question Number : 93 Question Id : 753229902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrfRad & 9§ ford GeTak &1 37 "SI & aaT 82
Options :

1. ¢ &I-8-geb! araT|

2. % e | gid S|

3. % THI-H1 SdTd ol

4. % GUW I

Question Number : 94 Question Id : 753229903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=frRad & T Aieifad "SI gegl O §-t aRTd" &1 3T 37 g2
Options :

1. % S SUDHR B D] HTfed BT

2. % a1 Td BRI o I a1 e fHe |

3. % WY 3 dTd BT DR HAT A1 |

4.« ST gRIT o gt 3 el

Question Number : 94 Question Id : 753229903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



f=foRad o & Aepifa oI gegl oy & aRIa” &1 T 31 g2
Options :

1. % S IUBR B IUP] ATed BTl

2. % TOIT e BRI a¥g Sa- o 3w A

3. % T 34 T BT IBHR B AMed|

4. ST gRITT a9 &1 3= ARt

Question Number : 95 Question Id : 753229904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

42 feu 7w gt & e A @ 12 fomg &1 AT far mar g2
BIC AT DT dG-TGHR ST

Options :

1. % 3eqfoR fog Ud S iR g
2. ¢ oI 78 Td quifaR™ g

3. % 3R g wd quifarm g
4. % IGRU fug vd goffr™ g

Question Number : 95 Question Id : 753229904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

42 feu T gt & e A Q P12 fog &1 AT fhar T 82
BIC AN DT TG-TGPHR dIaT|

Options :

1. % 3fcufarm forg U ergfov™ fag
2. ¥ Ao fog Td quifar™ g

3. % 3fgavyl g wd guifoRm foeg
4. % IGRUl fag Td guifar™ fag

Sub-Section Number : 2



Sub-Section Id : 75322959
Question Shuffling Allowed : Yes

Question Id : 753229905 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (96 to 100)
=TT TRIT1 FT AT ga® T B U=AT B IR Glord-

W-W$W@r@w%§@-§@,&maﬁmw&mmﬁﬁaﬁwﬁ&rﬂwm% SUUHR & YT & T Y §ad &1
S G § 3R Tl b1 I Y &1 uifed gict g1 fomdt af HYUI DI GRIT| T Had iy & IRMYd BIhR PIY, T, UG,
Ui STTRAM 3M1fe HTal &1 The ga f3ar § 3fR TR & Aiftfes uer @ g wis ferar 81 7 9P & forddt S umnyd &1 3@ 98 ol &1
feare-fordra Yo &t gry g1 &, 1 foelt §9-gRaan & @ St S0 ¥ Sdlyd BIdT §; T ls SUHH Yo ST YAHR G a1 &S gl
g1 Ife I frdll THgY® SR &1 &1d Ha! ot dl a8 A YH S[IHR Hi1e A1 GUT TIE H- o VM IR TGS &b 1Y Hl 1o “SH
&I, BN T AAAS; Il U1 HTH <1 |7 T8 7T YIS AHNIS 77 8 | STY A 31T HR a1 ]

Sub questions

Question Number : 96 Question Id : 753229906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST TR & IR, ISR fohdd THR BT I 82

Options :
1. ¢ TR I
2. % QRIS I\

Question Number : 97 Question Id : 753229907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sudad T H Ugad X “HUur &1 T Y g
Options :

1. % hd¥

2. ¢ B




3. % UggHHG
4. % g

Question Number : 98 Question Id : 753229908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TR & AR, - U gH IUR & YW-gW, 3¢ a0 TS &1 Y& WidHad 0 H I Had & |
Options :

1. % AIH P YIR

2. % AP TR

3. ¢ dIUf & TR

4. % YOS YAR

Question Number : 99 Question Id : 753229909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST TR & ey H, AR &1 910 YADHR o1 BT 882

Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. GERI &1 & IR 3B HAT AN

2. YD d1d PI G151 181 AU

3. IGDB! §Td Pl ToRSHETS DR AT A1

4. 39 Gd ¥ FTST HRAT Ilg |

Question Number : 100 Question Id : 753229910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sued TR B fAfaRad O 9 food vreg &1 v A6t o T 8

Options :



1. % TAHEHE
2. % BOHIYY
3. % 3dfommg
4. ¥ PAATgol

Question Id : 753229905 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (96 to 100)

TR I T AT YD SE HR YA & IR alford-

Hid- Tl o TR ¥ §H TR & JE-gU, 37 Fa e FT Y Wi &0 H 3HT F3d g | 39 UDHR & 34T & N I §&d &1
S AT § R ATl &1 I YfH B Wi giet g | Wa%mﬁm|WWaﬁu$w B 1Y, T, UG,
HIGT SITHTTHH 3HTfe HTd! &1 ThaH qal fadT § 3R TR & Wit Uef 9 4 His ferar g1 7 g% & fordt Sumnyd &1 <a 98 Uui &1
feare-frare ya &+t gry giar 8, 71 fordht - o1 39 w1t 3o A gdltyd 81T &; 1 Bl SITHH Yad §1d YA Hg T & Bl
g1 afe I fordlt ARy SR &1 a1d dal ol Al 98 TS YH SFIHR 1Y AT YOI TIE HRA & R IR T@18 & 1Y Bl 1o “SH
&I, BHY 1 A, Il ST H1H ¢ |7 T8 HET HAHG AFRIS I 8 | ST A 3181 {R ST g |

Sub questions

Question Number : 96 Question Id : 753229906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST TRITRT & TR, ISR [ YHR BT 62
Options :

1. ¢ AFRI® AT

Question Number : 97 Question Id : 753229907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SUad TR H Ugad Xeg “HIur &1 71 Y g
Options :




1. % Hd¥
2. ¢ Hod
3. % UggHHg
4. % g

Question Number : 98 Question Id : 753229908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SWH TR & AR, Hfa- I 5H IR & -3, e T 3Mfe F1 Y Wi T H 4T Hd 8 |
Options :

1. % AIH P YAR

2. % JM & TR

3. ¢ dIUf & TR

4. % Yg'b YIR

Question Number : 99 Question Id : 753229909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sudad T & e |, SR & d1d YADHR T AT MR
Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :

1. QIRI BT & IR 3BT HAT AT
2. YD dTd b1 Y1 51 -To] dligU|

3. 3P d1d DI ToR3AGTS B G1 AT
4. 39 e ¥ TS H1 AN84 |

Question Number : 100 Question Id : 753229910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Sua T & fEfaRed § @ e wree o1 v A fear man g

Options :

1. % STATHHH
2. % AT
3. % 3dfummg
4. ¢ pagayul
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Question Number : 101 Question Id : 753229911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The image of an object is formed behind a concave mirror, is virtual and is larger in size. Where is the object located?
Options :

1. ¥ Between Principal Focus (F) and Pole (P)

2. % At Principal Focus (F)

3. % Between F and 2F

4, % at2F

Question Number : 101 Question Id : 753229911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foprit o o1 UifeTa Sfadad qUul & U1 ST &, STHRIT BIdT € 3R PR & SST8IdT ¢ | I%] Pal 1Ud g2
Options :

1. ¥ T BIdHd (F) 3R §d (P) & &1

2. % T BIHY (F) R

3. % FIR2FFH o

4. % JF R

Question Number : 102 Question Id : 753229912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is NOT correct?

1. The size of an object as perceived by eye depends on its visual angle.

2. The human eye is most sensitive to yellow-green light having wavelength 5550 A
Choose the correct code.

Options :

1. % Only 1

2. % Only 2

3. % Both 1 and 2



4. # Neither 1 nor 2

Question Number : 102 Question Id : 753229912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafead # ¥ S 91 Sy Tad 82

1. 3 GRT 3IHT BT ST a¥g BT AR, 131 & e P R R FRAT |

2. 44 77 YIa-8R YT & o sregwa Yag1=iia gid 8, ot a¥iesd 5550 A g
T D18 I |

Options :

1. % had |

2. % dHad 2

3. % M1 3R 2

4. TA13IRAE 2

Question Number : 103 Question Id : 753229913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
For persons a, b and c, the images formed in their eye has been depicted below in the diagrams—

Retina Retina

fa) by

Retina

Which of the following statements is correct?
1. Person a needs diverging lens.



2. Person c suffers from short sightedness.
3. Person b does not have any vision-problem.

Options :

1. % Only 1 and 2
2. % Only2and 3
3. % Only 1 and 3
4. % 1,2and3

Question Number : 103 Question Id : 753229913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFTY a, b 3R ¢ & forg, et 3fiRal & 9 foefl &t i< few 7w el A ewfar mn 8-
Yfear Ifear

fa) Tﬁ;ﬂ' b}

fe)

fofefead sy § ¥ oiH I8l 82

1. fad 2 BT TR A D1 TS 5 |
2. Hfad ¢ Fdpe-eP Au d difsa gl

3. fadd b Bl BIs D-THRT T8I 5
Options :

1. % Had 1 3R 2

2. % Hae 2 3R 3

3. ¢ Had 1 3R 3

4. % 1,23R3




Question Number : 104 Question Id : 753229914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A rear-view on an automobile has a radius of curvature of 4.00 m. If a bus is located at 6.00 m from this mirror, then which of the following
statements is NOT correct?

Options :

1. #® The image is virtual.

2. ¥ The image is smaller in size by a factor of 0.20.
3. # The mirror is convex.

4. ® The image will be formed at a distance of 1.5 m at the back of the mirror.

Question Number : 104 Question Id : 753229914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forelt sifcrmasa & Uie &1 2%g <+ & o SUINT g aTal S<d GUUT Bi aghdl 991 4.00 m § | TS T o9 $ GUUT Y 6.00 m P g2l IR
Ry & @ Fafafed & 3 S $u- el 76l 62

Options :

1. % gfafere ey 21

2. ¢ Yfafets SMeHR & fa@ ¥ 0.20 T BT B

3. % gUU WA g

4. % Hiafers g0 & U 1.5 m &1 g W |

Question Number : 105 Question Id : 753229915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following is concave mirror NOT used?
Options :

1. ® Torches

2. % Dentists’ mirrors

3. ¥ Side-mirror for trucks

4. ® Large mirrors to concentrate sunlight to produce heat in solar furnaces



Question Number : 105 Question Id : 753229915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5 o O fhud sfadd aUur &1 NT g1 fhan ST 82

Options :

1. % 2

2. % g Rife®! & gUur

3. THI & [oTE A8 e-IRR

4. % OR HiLA 7 gd & U< B % B & R 8 gdor A

Question Number : 106 Question Id : 753229916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is NOT correct about electric current?

Options :

1. ¥ Current is a vector quantity.

2. # 1C of electric charge is equivalent to the charge contained in nearly 6 x 10'8 electrons.

3. % An ammeter needs to be connected in series in an electrical circuit to determine how many amperes of current is flowing in the electric
circuit.

4.% 1pA=100A

Question Number : 106 Question Id : 753229916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faega 4R & IR 7 Fgffad 7 3 &F a1 Hu wel e 82

Options :

1. ¢ Taggq UR1 te I AR B
2. % 1C faggd A T 6 x 10!8 SaigeHl & fAfRd 3o & SRR B
3. % faggd uRuy & fohd= TR YRT vaTfed 81 36! &, T8 MUid &3 & fou T THier & faggd uluy & gufieey & Siret s anfguy

4. % 1 uA=10%A



Question Number : 107 Question Id : 753229917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is an insulator?
Options :

1. ¥ Bakelite

2. % Aluminum

3. % Copper

4, % Silver

Question Number : 107 Question Id : 753229917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafiied § 9 & 16 $aas g2
Options :

1. ¢ dohellse

2. % Tegiafy

3. % qid

4. ® gid}

Question Number : 108 Question Id : 753229918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On which of the following does the value of the voltage or current generated by an AC generator NOT depend?
Options :

1. # Number of turns in the coil

2. % Strength of the field

3. % Speed at which the coil or magnetic field rotates

4. ¥ The poles of the permanent magnet

Question Number : 108 Question Id : 753229918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TTac ¥R S H dleest Siydt faggd 4R &1 AE Fufaied # § feg w ARk @ ardt g2
Options :

1. % PUSdl H Bl I GBS R

2. % JHID Y &F DI Yaerdl IR

3. % IY I W, o R HUSH! I TEH1T &F gHAT &

4. ¢ R g & Yd

Question Number : 109 Question Id : 753229919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following connections generally use series connections?
1. Household appliances

2. Small bulb-decorations on Deepawali

Choose the correct code.

Options :

1. % Only 1

2. % Only 2

3. # Both 1 and 2
4. #® Neither 1 nor 2

Question Number : 109 Question Id : 753229919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAfIRId & I DI 1 SR SR R JUHH HARM BT SUIAN Rl 62
1. TR SUHRI

2. YTl R BIC Fed-Tolace

el ple |

Options :

1. % $Had |

2. ¥ $Had 2




3. % gHf 1 3R 2
4. % Fd11 3R 2

Question Number : 110 Question Id : 753229920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 horse power (hp) is approximately equivalent to-
Options :

1. % 725W

2.9 746 W

3. % 772 W

4. % 789 W

Question Number : 110 Question Id : 753229920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1 T UTaR (hp) TRTHT SRTSR 2-
Options :

1. % 25Wd

2.¥ 746 W

3.8 72Wdh

4. % 789 W&

Question Number : 111 Question Id : 753229921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following types of coal is the best quality of coal?
Options :

1. # Peat

2. % Lignite

3. # Sub-bituminous



4. ' Bituminous

Question Number : 111 Question Id : 753229921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frufered & 4 {5 TR &1 H1gal GaiaH YR &1 S Iadl 82
Options :

1. ® gic

2. % fermge

3. % JU fagirg

4. ¢ fagformg

Question Number : 112 Question Id : 753229922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following renewable energy sources can be harnessed all the time?
1. Solar energy

2. Wind energy

3. Geothermal energy

Choose the correct code.

Options :

1. % Only 1

2. % Only 2 and 3
3. % Only 3

4. % Only 2

Question Number : 112 Question Id : 753229922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad & 3 f5g Tdieoia ot Fid &1 8 97T SUTRT fHa1 S JahdT 82
1. IR Sl
2. g Sl



3. YATd Sl
Tl ple |
Options :

1. % $Had |

2. % HAA2 3R 3
3. ¢ $Hdd 3

4. % PHad 2

Question Number : 113 Question Id : 753229923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A car travels in a circular motion. Which of the following statements is true?
Options :

1. #® Distance travelled by the car will always be less than displacement of the car.
2. ¥ Distance travelled by the car will always be more than displacement of the car.
3. # Distance travelled by the car will always be equal to displacement of the car.

4. ® Distance travelled by the car will be zero when displacement is zero.

Question Number : 113 Question Id : 753229923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T ST T g i & A6 vt 8 | Fafaied 8 9 &F 91 3 93 82
Options :

1. ® TS GRI T P T8 g3 gHRNT ST o [T o & ghft

2. TSI GRI 09 ®I 718 g3 gHRIT ST o faRITa ¥ 31fdieh g |

3. % TSI GRI AT DI T8 31 GHRI TS & [IRITI & SRI&R BRT |

4. % TORITY Y B R IMS! §RT 04 &1 T8 gl LA G|

Question Number : 114 Question Id : 753229924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is an example of Newton’s second law of motion?
Options :

1. # When a bus stops passengers standing in the bus fall in the forward direction.
2. ¥ A person gets hurt when he falls on a cement floor.

3. # When a person jumps out of a boat, the boat moves in the opposite direction.

4. ® During swimming we push the water in the backward direction, with our hands and feet, to move in forward direction.

Question Number : 114 Question Id : 753229924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol § 3 o e & 71fd & gaR | &1 3amsu g2

Options :

1. % 9§ Uh 99 Shall @ dl 99 A TS I M i fewn & R oa &

2. ¢ Ui & BRI R fIRA R TH Afd DI dic el g

3. % O[d g iad A1d ¥ $Hadl g, I 1a [JoRid fG=n & Ferdt g

4. % (I P AR MBI G H S & fofe 59 U b 3o g1l ofR IRT A i 1 faxn F a1 < 6

Question Number : 115 Question Id : 753229925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A bullet of mass 0.05 kg is fired with a velocity of 120 ms™! from a rifle of mass 4 kg. What will be the recoil velocity of the rifle?
Options :

1. % 1.0 ms!

2. % 125 ms!

3.9 1.5ms’!

4. % 175 ms!

Question Number : 115 Question Id : 753229925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T T ForIehT GeaH 0.05 kg € 99 120 ms™! OFT T S I SRT A1 § | S5 1 GoTHM 4 kg 8| §g& & U (recoil) 37T FT 82




Options :

1. % 1.0 ms™

2. % 125ms’!
3.9 1.5ms’]

4. % 175 ms’!

Question Number : 116 Question Id : 753229926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On which of the following does the frictional force depend?
1. Smoothness of the surface

2. The normal reaction

Choose the correct code.

Options :

1. % Only 1

2. % Only2

3. ¥ Both 1 and 2
4. % Neither 1 nor 2

Question Number : 116 Question Id : 753229926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gyl 9 FEfired 7 9 feg R R axarg?

1. I8 B TS
2. 3w gfafehar

el pls |
Options :

1. % &Had 1

2. % Had 2

3.9 G 1 3R 2

4. % A1 3RAE 2



Question Number : 117 Question Id : 753229927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following position-time graphs represent non-uniform motion, where the rate of change in position is decreasing?

Options :
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Question Number : 117 Question Id : 753229927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad & 9 oF 91 fRIT-a5g 1% 3/HM T1fd &1 Ufaia orar g, 9igl fRUfa & uRada ot g ue 38T 82

Options :
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Question Number : 118 Question Id : 753229928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who out of the following had found out the accepted value of G or the universal gravitation constant?
Options :

1. # Sir Issac Newton

2. % Henry Cavendish

3. % J C Maxwell

4. % Joseph Priestly

Question Number : 118 Question Id : 753229928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRed o 9 fram ¢ & Wigd A1 a1 IaH® Toad RIS &1 IdT T 412
Options :

1. % IR 3MZoIP Y2

2. ¢ B pafew

3. % O Ut ARyad

4. % SI® Uedl

Question Number : 119 Question Id : 753229929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following form of energy depends on mass and velocity of an object?
Options :

1. # Only Potential energy

2. ¥ Only Kinetic energy

3. % Both Potential and Kinetic energy

4. # Neither Potential nor Kinetic energy



Question Number : 119 Question Id : 753229929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad 7 @ Sof &1 o 1 =0 fis & gaae iR IR AR s g?
Options :

1. % ohad e St

2. ¥ 6Had TSl Sl

3. % UGS iR 7ot Soif g

4. % - FRyferst 3R =1 g1 w1feret St

Question Number : 120 Question Id : 753229930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following exhibits conversion of electric energy into kinetic energy?
Options :

1. # Electric bulb

2. # Loudspeaker

3. % Table fan

4. # LED

Question Number : 120 Question Id : 753229930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafea # 3 feraw faggd Suif o1 it Soit & aRad- giar 82
Options :

1. % Safed Tod

2. % 3SR

3. ¢S B

4. % QAR



Discipline2

Group Number : 7

Group Id : 75322951

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline2

Section Id : 75322951

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 75322961

Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 753229931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X climbs up a small hill in 10 minutes, Y takes only 7 minutes in going up the same hill. The weight of X is equal to the weight of Y and is 54
kg. Which of the following statements is true?

Options :
1. # X does more work than Y

2. # Y does more work than X



3. # X spends more power than Y

4. ¥ Y spends more power than X

Question Number : 121 Question Id : 753229931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X U DI URTSI R 10 e Aggdr g, v S UgTSl W I § dhadl 7 e Aa1 81 X PTHR Y & HR & SRIeR & 3R 8 54 fH 81
i & O &9 91 Y I 82

Options :

1. % X, Y § 3 B9 Hal g

2. % Y, X ¥ 3P HH BT ©

3. % X, Y ¥ 3 fed W a1 g

4. 'Y, X 9 3% Yfed T Har g

Question Number : 122 Question Id : 753229932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Manufacturing of which of the following utilizes the Archimedes’ Principle?
1. Submarines

2. Lactometer

Choose the correct code.

Options :

1. % Only 1

2. % Only 2

3. % Both 1 and 2
4. # Neither 1 nor 2

Question Number : 122 Question Id : 753229932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad # 3 frads fafor & sifhRde & Rigid 1 3w giarg?
1. UG el



2. g HTeR (grdTdh)
el ple |
Options :

1. % $Had |

2. % Had 2

3. Gl 1 3R 2

4. % A1 3RAE 2

Question Number : 123 Question Id : 753229933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is NOT correct?

Options :

1. #® All bodies experience buoyancy when they are immersed in a fluid.

2. % Upthrust is not experienced by a body when immersed in a gas.

3. # Archimedes Principle can be exhibited even if a body is partially submerged.
4. ® Archimedes Principle depends on the density of the fluid.

Question Number : 123 Question Id : 753229933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffad 7 @ o1 1 By It T 82

Options :

1. % Tt aeqU fordl oRa H GaIE O IR SadTa- §d &1 3Hd ol g

2. ¢ T T §d 8H WR X gRT I&a BT 34T 8| fhar Sar g

3. % YA g 1s s 3 wu q avat qregy & ga g1 af ot snfh e Rigia vefRia fror sn gear g1
4. % fHTESIS T Rigid 5d & g9@ R MR a5

Question Number : 124 Question Id : 753229934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The general range of audible frequencies for humans is-
Options :

1. ¥ 20 Hz to 20,000 Hz

2. % 10 Hz to 25,000 Hz

3. % 24 Hz to 25,000 Hz

4. % 26 Hz to 28,000 Hz

Question Number : 124 Question Id : 753229934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Al & fore yog sngfdl &t W= IR 8-
Options :

1. ¢ 20 Hz ¥ 20,000 Hz

2. % 10 Hz ¥ 25,000 Hz

3. % 24 Hz ¥ 25,000 Hz

4. % 26 Hz ¥ 28,000 Hz

Question Number : 125 Question Id : 753229935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The velocity of sound will be highest in-
Options :

1. ¥ Steel

2. # Glass

3. % Silver

4. % Water

Question Number : 125 Question Id : 753229935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

egfq &1 I gy 31feIPH gITI-

Options :



1. ¢ T
2. % Pig
3. % gidt
4. % Tt

Question Number : 126 Question Id : 753229936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sound wave has a frequency of 4 kHz and wave length 40 cm. How long will it take to travel 2.5 km?
Options :

1. % 2.1 seconds

2. % 1.56 seconds

3. % 3.45 seconds

4. # 4,12 seconds

Question Number : 126 Question Id : 753229936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 91 T B TG 4 kHz 3R T TS 40 TH Bieht g1 2.5 foort &t A v H I fova1 wwg @
Options :

1. % 2.1 9bhs

2.¥ 1.56 9hs

3. % 345 Yhe

4. % 4129bs

Question Number : 127 Question Id : 753229937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following devices use the multiple reflection of sound?
1. Stethoscope

2. Megaphone

Use the correct code.



Options :

1. % Only 1

2. % Only 2

3. % Both 1 and 2
4. ® Nither 1 nor 2

Question Number : 127 Question Id : 753229937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifad § & P T IUBRUT e & g I BT ITTNT BT 82
1. YD

2. A

TE BIS BT YA B |

Options :

1. % PHad 1

2. % Had 2

3. gl 1 3R 2

4. % TV 1 3RAE 2

Question Number : 128 Question Id : 753229938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is incorrect?

Options :

1. # The plasma state consists of super energetic and super excited particles.
2. % Plasma state is used in a neon sign bulb.

3. # The Sun and the stars glow because of the presence of plasma in them.

4. ¥ The plasma is created in stars because of very high pressure.

Question Number : 128 Question Id : 753229938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
foferfad & ¥ o 1 By Ted 82

Options :

1. % TEATSHT a1 H 31fd Soifa SR 3ifd IAfTd FUr gld €
2. % TEASHT AT BT IYTNT 79 13 ded | fobar Srar 3|
3. % Q¥ 3R AR ITH WIoHT &1 UK & SR IHG & |
4. ¢ ARI H w1 &1 fAfu srafiies 3= g & FRUTEIAT g

Question Number : 129 Question Id : 753229939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the relation between atmosphere (atm) and Pascal (Pa)? (Where both are the unit of measuring pressure exerted by a gas)
Options :

1. % 1atm=1.01x 10° Pa

2. % 1atm=1.03 x 10° Pa

3. % ]atm=2.01x 10° Pa

4. ¥ 1atm=1.01 x 10° Pa

Question Number : 129 Question Id : 753229939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TCHRB IR (atm) 3R URGT (Pa) & o191 Ta¢ 1 82 (TBT &1 8l T &1 AU &1 HTHF §)
Options :

1. % 1 atm=1.01 x 10° Pa

2. % ] atm=1.03 x 10° Pa

3. % | atm=2.01 x 10° Pa

4.4 1 atm=1.01 x 10° Pa

Question Number : 130 Question Id : 753229940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In a solution 50 g of sugar is dissolved in 350 g of water. What is the concentration of the solution in terms of mass by mass percentage?
Options :

1. % 11.1 percent

2. % 12.5 percent

3. % 7.01 percent

4. % 9.3 percent

Question Number : 130 Question Id : 753229940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TF AT & 350 ¢ faamrs o1 & 50 ¢ 1 faoa g1 faaae &t igd &1 uRea B |
Options :

1. % 11.1 vfa=rd

2. ¢ 12.5 Ofa=rd

3. % 7,01 gfa=rd

4. % 9 3 gfa=rd

Question Number : 131 Question Id : 753229941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which type of colloid butter is?

Options :

1. # Sol

2. % Aerosol

3. # Foam

4. ¥ Gel

Question Number : 131 Question Id : 753229941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ARG fhg TR BT HlASS 22
Options :




1. % 9|
2. % WA
3. % HIY
4. S

Question Number : 132 Question Id : 753229942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How can we separate cream from milk?
Options :

1. ¥ Centrifugation

2. # Filtration

3. % Chromatography

4. # Separating funnel

Question Number : 132 Question Id : 753229942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U I B HY GUDH HR Tdd g7
Options :

1. ¢ Ui

2. % B fafy

3. % PIHCHITG!

4. % QYGHIU DY

Question Number : 133 Question Id : 753229943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the mass of a particle?

Options :

1. % 2u



2.% 3¢
3.¥ 4u
4. % Su

Question Number : 133 Question Id : 753229943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o T BT SHHH T Bl g2

Options :

l1.% 2u

2.% 3u

3.¥ 4

4. % 5u

Question Number : 134 Question Id : 753229944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the valency of Lithium?

Options :

1.*0

2.¥ 1

3. % -1

4. % 2

Question Number : 134 Question Id : 753229944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
forfw 1 STl T 62

Options :

1.* 0

2.9¥ 1

3. % -1



4, % 2

Question Number : 135 Question Id : 753229945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Chlorine occurs in nature in two isotopic forms, with masses 35 u and 37 u in the ratio of
Options :

1. % 2:3

2.9 3:1

3.% 1:2

4. % 1:4

Question Number : 135 Question Id : 753229945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ui H TR &l GRS S0 § Ut S7Td §, foTesT S 35 u 3R 37 u Sl F AT H BB
Options :

1. %23

2.9 3:1

3.% 122

4. % 1:4

Question Number : 136 Question Id : 753229946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why did Rutherford select gold foil for his experiment?
Options :

1. ¥ Because he wanted a thin layer as possible.

2. % Because he wanted a good conductor of electricity.

3. # Because he wanted the layer to be as pure as possible.

4. % Because he wanted the layer to be made of a heavy element.



Question Number : 136 Question Id : 753229946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YIS A 3T YIRT & ford i &1 g9l &1 99 o) foeam?
Options :

1. ¢ Fifd d YRIHT Th dalt IRd d1ed Y|

2. % Fifep o faoTel 1 U 3<d1 I d1ed |

3. % Fifd d 91ed A T Rd gYR”Ha S 1|

4. % i 98 d1ed ¥ fob IRa T YR dd A ST &1

Question Number : 137 Question Id : 753229947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which one of the following is not metalloid?

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1.B

2. As

3.Te

4. Se

Question Number : 137 Question Id : 753229947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafrfad # & B gauTg T8 &2
Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.



Options :
1.B

2. As

3. Te

4. Se

Question Number : 138 Question Id : 753229948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following element belongs to the third period in the Periodic Table?
Options :

1. * Be

2.9 Si

3. % C

4. % Br

Question Number : 138 Question Id : 753229948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3frad gl # Fafafed # 3 o 91 da R sirad 3 H6fid g2
Options :

1. * Be

2.9 Si

3. % C

4. % Br

Question Number : 139 Question Id : 753229949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following elements have an atomic radius of 66 pm?
Options :

1.¥ 0



2. % H
3. % N
4. % C

Question Number : 139 Question Id : 753229949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafifEad & ¥ 1 I dcd BT IRATY 3947 66 pm 82
Options :

1.¥0

2. % H

3. N

4. % C

Question Number : 140 Question Id : 753229950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an example of oxidation reaction in daily life?
1. Corrosion

2. Rancidity

Choose the correct code.

Options :

1. ® Only 1

2. % Only 2

3.4 Both 1 and 2
4. % Neither 1 nor 2

Question Number : 140 Question Id : 753229950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeiad 7 @ o gaR SR Sitaw & Iu=aq sififearst &1 Iererurg?
1. &R




2. fapariferan

ol HIS T IUT Br-
Options :

1. % $Had |

2. % Had 2

3. ¢ 1 3R 2 M

4. % A1 3RAE 2
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Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 753229951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How does the colour of silver chloride change in sunlight?
Options :

1. ¥ White to grey

2. ® Grey to white

3. ¥ White to Green

4. % Green to white

Question Number : 141 Question Id : 753229951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T & USRI & RYeeR FAR1ES &1 1T HY 96 oIrdl 87
Options :

1. ¥ §he ¥ ¢
2. % IR Y AWa
3. % ghg 4§
4. % T e

Question Number : 142 Question Id : 753229952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider the following precipitation reaction —
NazS0y4 (ag) + BaCl; (aq) — BaS0y4 (s) + 2NaCl(aq)
What is the colour of BaS047

Options :
1. # Grey
2. % Brown
3. % Pink



4. ¥ White

Question Number : 142 Question Id : 753229952 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frTfef@a ke ov fFaR &+ —
Na;80, (aq) + BaCl; (aq) — BaSO, (s) + 2NaCl(aq)

BaSO, @l {31 FAT FIaI?
Options :

] % YR

2. %

3. % T[crat

4. ¥ qhg

Question Number : 143 Question Id : 753229953 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Complete the chemical reaction—
Metal carbonate/Metal hydrogencarbonate + Acid —

Options :

1. # Salt + Water

2. ¥ Salt + Carbon dioxide + Water

3. # Salt + Carbon mono-oxide + Water
4. # Salt + Carbon dioxide

Question Number : 143 Question Id : 753229953 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT offtfod 1 T Y

YId PIdIHC/UT] IR gISIHPIHHC + H&T —
Options :

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option



1. #® AdUl + 9

2. ¢ AU + HIa SRS + 5T
3. % TAUT + Bla- HH1-3HRISS + od
4. % GJU + HTa SRS

Question Number : 144 Question Id : 753229954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is not a form of Calcium Carbonate?
Options :

1. # Limestone

2. ¥ Blackstone

3. # Chalk

4, % Marble

Question Number : 144 Question Id : 753229954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FAfRad & 9§ ST Hiekrad HTaHT &1 %4 51 87
Options :

1. % JA1-UR

2. ¥ BT

3. % @igar

4. % TR

Question Number : 145 Question Id : 753229955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the pH range of our body?
Options :

1. % 61-70



2. % 81-9.0
3. % 57-6.5
4.4 70-7.8

Question Number : 145 Question Id : 753229955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TURT TRR {5 pH TR & &g HTH HT 82

Options :

1. % 6.1-7.0
2. % 81-9.0
3.% 57-6.5
4. 70-178

Question Number : 146 Question Id : 753229956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which acid is present in Tamarind?
Options :

1. % Oxalic acid

2. % Citric acid

3. ¢ Tartaric acid

4, % Acetic acid

Question Number : 146 Question Id : 753229956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T o I 31T T STl 8
Options :

1. % SioTieidh 3

2. % fafdw o



3. ¥ TICR® &I
4, % URfe® o

Question Number : 147 Question Id : 753229957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Aqua regia is a freshly prepared mixture of concentrated hydrochloric acid and concentrated nitric acid in the ratio of
Options :

1. ¥ 3:1

2. % 23

3. % 32

4. % 13

Question Number : 147 Question Id : 753229957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tepar RS & 3UTd W Wik SIS TN 3 U Hig ATSfedh S P e 9o g 81
Options :

1. ¥ 3:1

2. %23

3. % 32

4. % 13

Question Number : 148 Question Id : 753229958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following does not react with dilute HCL?
Options :

1. % Al

2. % Fe

3.¥ Cu

4. % Zn



Question Number : 148 Question Id : 753229958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeiead & ¥ &M ag HCL & I1y iffohar g vl 82
Options :

1. # Al

2. % Fe

3.¥ Cu

4. % 7n

Question Number : 149 Question Id : 753229959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the boiling point of Ethanol?
Options :

1. ®* 290 K

2. % 209K

3.9 351K

4. % 111K

Question Number : 149 Question Id : 753229959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT BT HYDH T 57

Options :

1. % 290 K

2. % 209K

3.¥ 351K

4. % 111K




Question Number : 150 Question Id : 753229960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the formula of Hexane how many hydrogen atoms are present?
Options :

1. ® 10

2. % 12

3. 14

4. % 16

Question Number : 150 Question Id : 753229960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SRA & T I fhrdA gr3g o WRHTY HiSlE 81 /2
Options :

1. % 10

2. % 12

3.¥ 14

4. % 16

Question Number : 151 Question Id : 753229961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is an oxidizing agent?
A. Alkaline KMnOy

B. Acidified K,Cr,O~
Options :

1. ®* Only A

2. % Only B

3. % Both A and B

4. % Neither A nor B



Question Number : 151 Question Id : 753229961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafafed & § Y srfieR® 82
A. &R KMnO,

B. 3{f&IHd K,Cr,0;

Options :

1. % BHdd A

2. % HIAB

3. ¢ A 3R B Al

4. % TAATEIB

Question Number : 152 Question Id : 753229962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which gas is produced when Alcohols react with Sodium?
Options :

1. ¥ H,

2. %0,

3. % CO,

4. % NH;

Question Number : 152 Question Id : 753229962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UeopleTal TfeTH & 1y ffhar B IR SH-T i I gt 22
Options :

1.¥ H,

3. % CO,



4. % NH;

Question Number : 153 Question Id : 753229963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a mixture of chloroxylenol and terpineol?
Options :

1. ¥ Dettol

2. # Furacine

3. % Soframicine

4, % Todoform

Question Number : 153 Question Id : 753229963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofaRad o 9 HH saRiferania iR SUHTd &1 s g2
Options :

1. ¥ $cid

2. % PRI

3. % GpTEERHE

4. % JASIHTH

Question Number : 154 Question Id : 753229964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the sweetness value of Saccharin in comparison to cane sugar?
Options :

1. % 100

2. ¥ 550

3. % 600

4. % 2000



Question Number : 154 Question Id : 753229964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T &1 a1 | AR o1 [0SR Jod o1 87
Options :

1. #® 100

2. ¥ 550

3. ¥ 600

4. % 2000

Question Number : 155 Question Id : 753229965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
CH,-OH
[
CH -OH
|
CH,-OH
Above given 15 a formula of:
Options :
1. ¥ Glycerol
2. # Glyceryl ester
3. % Lauryl Alcohol
4. ¥ Dodecylbenzene

Question Number : 155 Question Id : 753229965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



CH,-OH

|

CH -OH

|

CH,-OH

. foor o forwa g €
Options :
1. ¢ fTeRRIa
2. % IR TR
3. % QNS Aehigd

4. % SrSRyQESl

Question Number : 156 Question Id : 753229966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a single cell organism.

Options :

1. ¥ Amoeba

2. # Platyhelminthes

3. # Acanthocephalans

4. % Nematodes

Question Number : 156 Question Id : 753229966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
 tHpIReIvael

Options :

1. ¢ 3HiET

2. % QYPHiH

3. % Up=RINAmIad

4. % FAPTH



Question Number : 157 Question Id : 753229967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Greek thinker classified animals according to their habitat.
Options :

1. # Archimedes

2. % Newton

3. % Aristotle

4. ¥ Mendel

Question Number : 157 Question Id : 753229967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A fdaR® 3 SR 1 I ST & IR digd fodT|
Options :

1. % SfeSier

2. % e

3. ¢ 3R

4. % Hgd

Question Number : 158 Question Id : 753229968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Grave's disease causes due to hyper secretion of hormone.
Options :

1. ¥ Thyroid hormone

2. # Aldosterone

3. % Insulin

4. % ACTH

Question Number : 158 Question Id : 753229968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Uog INT ST & 3P T1d b PRI SIAT G|
Options :

1. ¢ YRRTSS gTHHA

2. % TGIERM

3. % ggfeH

4. % YT

Question Number : 159 Question Id : 753229969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Addison's disease caused due to hyposecretion of
Options :

1. % Thyroid hormone

2. % Aldosterone

3. % Insulin

4. % ACTH

Question Number : 159 Question Id : 753229969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS I & 3T b HRUGIAT 5 |
Options :

1. % YRRISS gHMA

2. ¥ TRIKRH

3. % ggfoH

4. % THICITT

Question Number : 160 Question Id : 753229970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following layers of atmosphere is the closest to the earth?
Options :

1. ¥ Troposphere

2. # Stratosphere

3. ¥ Mesosphere

4. % Thermosphere

Question Number : 160 Question Id : 753229970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

agHed &1 9 & § ®F O IRd gt & ge e 72

Options :
1. ¢ &Y Hed
2. % JHAG HEd
3. % AEHSd
4. % SR IgHSd
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Group Number : 9
Group Id : 75322953
Group Maximum Duration : 0
Group Minimum Duration : 0
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Edit Attended Group? : No
Break time : 0
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Section Id : 75322953
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 75322963
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 753229971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following vitamins’ deficiency causes Beriberi?
Options :

1. # Vitamin D

2. ® Vitamin C

3. % Vitamin Bl

4. ® Vitamin A

Question Number : 161 Question Id : 753229971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafaRad o 9 ford faeaq o1 ol 9 S_ies giar 82
Options :

1. ® faerfi = D

2. % fqedF ¢

3. ¢ {4eI®F B1

4. % faerfid A



Question Number : 162 Question Id
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.

: 753229972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

25

Which of the following plant-hormones inhibit growth?

Options :

1. ¥ Auxins

2. # Gibberellins
3. # Cytokinins
4. ¥ Abscisic acid

Question Number : 162 Question Id
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.

: 753229972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

25

fafiyd & § ®19-91 UIgU-gH 1 gl T AGHT Bl 82

Options :

1. % 3R

2. % fofesRfer

3. % GEClPpI3
4. USRS 3T

Question Number : 163 Question Id
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.

Peripheral nervous system consists of-
Options :

1. #* Brain, nerve cord

2. % Cranial nerve, Spinal nerve

3. # Brain, cranial nerve

4. # Spine, Spinal nerve

Question Number : 163 Question Id

: 753229973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

25

: 753229973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Rt dfEeT frad s glarg?
Options :

1. % O, dAHT Ble

2. ¢ HUIA dF®1, A% dHAHT

3. % ORTsp, HUTd diAP]

4. % g, 7> dFA®T

Question Number : 164 Question Id : 753229974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

All the involuntary actions including blood pressure salivation and vomiting are controlled by in the Hind brain.
Options :

1. % Cerebrum

2. % Cerebellum

3. ¥ Thalamus

4. ¥ Medulla

Question Number : 164 Question Id : 753229974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

it sfese fohamd S JadeTd, AR ST adT a0 UyaRass R grIfafRd e |l
Options :

1. ® UAfRTSh

2. % ARTSH

3. % IoHy

4. Tga

Question Number : 165 Question Id : 753229975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which part of cell nucleus is the information source for making protein?
Options :

1. * Nucleolus

2. % DNA

3. ¥ Mitochondria

4, % Ribosomes

Question Number : 165 Question Id : 753229975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofaied o ¥ fead UidH U=avur §q Yo FHigd gl 872
Options :

1. % goegery

2. ¢ SITY

3. % HI3clolsal

4. % JTENE

Question Number : 166 Question Id : 753229976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Amoeba reproduces by

Options :

1. ¥ Binary fission

2. # Fragmentation

3. ® Regeneration

4. ¥ Vegetative propagation

Question Number : 166 Question Id : 753229976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SHiaT 1 54 fha ufshar 9 grar g2



Options :

1. ¢ fggeq

2. % WeA

3. % GoiA

4. % PIYD gaeA

Question Number : 167 Question Id : 753229977 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The term gene was coined by-

Options :

1. ¥ Newton

2. % Mendel

3. % Johannsen

4, % Lamarck

Question Number : 167 Question Id : 753229977 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SiiT 2eg; forgch GRT & T -
Options :

1. % Ygcd

2. % Hed

3. ¢ SNgFEA

4. % QqUID

Question Number : 168 Question Id : 753229978 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A gene is a relatively short length of DNA that codes for a
Options :

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option



1. ¥ Protein

2. ® Lipid

3. % Carbohydrates
4. # Fats

Question Number : 168 Question Id : 753229978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS oI ST B SUEPd PH TS g Ol DI bIS PRaAT B
Options :

1. ¥ U

2. # forfors

3. % PHEERIC

4. % g4l

Question Number : 169 Question Id : 753229979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a vestigial organ of human?
Options :

1. % Wisdom teeth

2. % Nictitating membrane of eye

3. #® Vermiform appendix

4. ¥ Heart

Question Number : 169 Question Id : 753229979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e # I oI A &1 SaR 31 8] 52
Options :



2. % 3rg B FAfdeefe Rt
3. % gH{KpH Tufgeg
4. ¥ §2g

Question Number : 170 Question Id : 753229980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The light sensitive screen of eye is known as
Options :

1. # Optic nerve

2. ¥ Retina

3. % Aqueous humour

4. % Pupil

Question Number : 170 Question Id : 753229980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A & USTRI-GUTE! TS P! 1 B 87
Options :

1. % T dfAd (2P df)

2. ¢ e¥lucd

3. % Tl

4. % gl

Question Number : 171 Question Id : 753229981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Light enters the eye through a thin membrane called
Options :

1. ¥ Retina

2. % Cornea



3. % Aqueous humour

4. % Vitreous humour

Question Number : 171 Question Id : 753229981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BT Ueh TTai! {3t § BiebR 751 H YW Rl 8, S T H8d 32
Options :

1. ® gPiyed

2. ¢ Pl

3. % Tl

4. % ddYH ad

Question Number : 172 Question Id : 753229982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which part of the eye is a dark muscular diaphragm that controls the size of the pupil?
Options :

1. ¥ Iris

2. # Pupil

3. % Vitreous humour

4. % Cornea

Question Number : 172 Question Id : 753229982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3G BT B IT U U Tex1 U SNFTH § S Ydell & MHR Hi HafAd a1 82
Options :

1. ¢ GRATREDT

2. % gqdl

3. % P «d



4. % PHIAT

Question Number : 173 Question Id : 753229983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following are sources of sulphur oxides?
1. Combustion of coal

2. Combustion of petroleum

3. Volcanoes

Choose the correct code.

Options :

1. % Only 1 and 2
2. % Only 2 and 3
3. % Only 1 and 3
4.4 1,2 and 3

Question Number : 173 Question Id : 753229983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad 7 9 o Tew 3ifeiss & Fid 82
1. ®Igd BT gg
2. UcIferay &1 g8

3. SATCl
el ple |
Options :

1. % Had 1 3R 2
2. % HaA2 3R 3
3. % PHad | 3R 3
4.4 1,233

Question Number : 174 Question Id : 753229984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In what ways can carbon dioxide be used?
1. In food-preservation

2. Refrigerant

Select the correct code.

Options :

1. % Only 1

2. % Only2

3. ¥ Both 1 and 2
4. % Neither 1 nor 2

Question Number : 174 Question Id : 753229984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FIa SEHTRIZS BT IUAN o] aRIp! 4 {1 o Yol 52
1. WTE-ERE0T H

2. AMpoRe & FYH

el pls |

Options :

1. % Pad |

2. % $Hdd 2

3.¢ @HlN 3R 2

4.% A1 RAGI2

Question Number : 175 Question Id : 753229985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following effects is not covered in the term water-pollution?
1. The addition of undesirable substances to bodies.

2. A change in temperature of water bodies.

Choose the correct code.

Options :
1. # Only 1
2. % Only 2



3. % Both 1 and 2
4. # Neither 1 nor 2

Question Number : 175 Question Id : 753229985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafifead & | 1 I YuTd STd-UguUT Teg F AMiHe 8T 82
1. Sa-Ferl # 3mfese uerd fier

2. 9 et & arga # giad |

g D18 I |

Options :

1. % $ad |

2. % Had 2

3. % Gl 1 3R 2

4. 9d1 AR 2

Question Number : 176 Question Id : 753229986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Nitrogen-fixing bacteria are found in-
Options :

1. # All species of dicot plants

2. % All species of monocot plants

3. % Legumes

4. % Rice

Question Number : 176 Question Id : 753229986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tgc o RRISU A aTel ey UTe &I 8-
Options :

1. % fgaioros el ot gt venfoat A



2. % AFIBIe el & gH genfaal #
3. ¢ BaleR Uiel |
4. % gAdH

Question Number : 177 Question Id : 753229987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following crops is a major source of carbohydrates for energy requirement?
Options :

1. % Black gram

2. ¥ Sorghum

3. % Linseed

4. # Fruits

Question Number : 177 Question Id : 753229987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol @ ATl & fore Fafafead 3§ 9 &F I wud Fefegac o Uh WE 9id 82
Options :

1. * DIl AT

2. ¥ SdRR

3. % 3crdl

4. % A

Question Number : 178 Question Id : 753229988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a way how insect pests attack the plants?
Options :

1. ® They cut the root, stem and leaf.

2. # They suck the cell-sap from various parts of plants.



3. % They block the stomata on the leaves, thus stopping photosynthesis.
4. ® They bore into stems and fruits.

Question Number : 178 Question Id : 753229988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fraffad & @ o a1 aier 781 @ T P2 Bie-tiee diel 1R g7 HRd 82
Options :

1. % 3 TS, T 3R U=f FIed B

2. % 3O & fAfdd WIT § HIRIG1IT THd & |

3. ¢ 3 ORI R B BT 3a9G B 6, 59 THR THIRT JRAT0 Bl Adhd & |
4. % 3T AR Bl H B¢ PR 6

Question Number : 179 Question Id : 753229989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Bombay duck is a type of-

Options :

1. ® Bird

2. ® Cattle

3. % Weed

4. ¥ Fish

Question Number : 179 Question Id : 753229989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
St S U YDHR Dl-

Options :

1. % el g

2. % TAM g

3. % WUAIR §




4. ¥ ASA B

Question Number : 180 Question Id : 753229990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a Kharif crop?

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. Masoor

2. Sunflower

3. Potatoes

4. Barley

Question Number : 180 Question Id : 753229990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafifd 3 $1 w8w @ vad 2
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. TR

2. ReTgt

3. 3T
4.9
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Question Number : 181 Question Id : 753229991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Carrot grass is a type of-
Options :

1. ¥ Parthenium

2. % Alligator weed

3. * Cockleburs

4. % Cyprus rotundus

75322954
0

0

No

No

0

10

No

Discipline5

75322954
1

Online
Mandatory
10

10

10

Yes

1
75322964
Yes



Question Number : 181 Question Id : 753229991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR 9T T UbR &1 gldl o-
Options :

1. ¢ Trffaom

2. % HIRHAS WUAAR
3. % Hlhaad

4. % UGS

Question Number : 182 Question Id : 753229992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Buffer stocks are those stocks of grains that are obtained by the government through the medium of
Options :

1. * FICCI

2. # ISER

3. ¥ ICAR

4. ¥ FCI

Question Number : 182 Question Id : 753229992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YfoRIYS HUSR 3T T HUSR g Sl fob TRPR gRI P H1eOH I T fpar Sirar g
Options :

1. % fhaw! (U aSitas)

2. % IS T TR,

3. % WM TR

4. ¢ T T} 3MS.



Question Number : 183 Question Id : 753229993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is true?

Options :

1. # Ozone is formed by the action of the UV rays on molecular oxygen at the mesosphere.
2. % Ozone is formed by the action of the UV rays on atomic oxygen at the mesosphere.

3. ¥ Ozone is formed by the action of the UV rays on molecular oxygen at the stratosphere.

4. % Ozone is formed by the action of the UV rays on atomic oxygen at the stratosphere.

Question Number : 183 Question Id : 753229993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFaffRad I P T FYTIa 82

Options :

1. % 3o HegHsa H AU HTRISH TR WRISTH! fHRu &) fohan ST 31

2. % SIS AeOHSd H URATY SRS TR RIS fhrull Bt fohar I a1 ¢ |

3. ¢ THAIHSE | ATUIfAdH HTeRiTo IR RIS fahRutl 1 fobar & SiisiF &1 fFHfur giar 81
4. % JHAHST H TR SHTRITSH TR RIS fhRut ot fopar & siieiF &1 fFafur §iar g1

Question Number : 184 Question Id : 753229994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is NOT true?
1. Plant eating animals release a large amount of methane in the atmosphere.
2. Industrialization and urbanization has lead to release of gases, such as CO,, CH4 and N,O into the atmosphere

Choose the correct code.
Options :

1. % Only 1

2. % Only 2

3. ¥ Both 1 and 2

4. ¥ Neither 1 nor 2



Question Number : 184 Question Id : 753229994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad HyEl & @ o 9 T8l 82

. QTPTERY SIHaR TRyl & Fat A § Hid" I&ld Hd g

2. TR 3R WEHHRT A TR H CO,, CH, 3R N,0 St -1 &1 Ieford fhan g |
g D18 I |

Options :

1. % $ad |

2. % PHad 2

3. % gl 1 3R 2

4.4 Tq1MRAE 2

Question Number : 185 Question Id : 753229995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Eichhornia crassipes is also known as—

1. World’s most problematic aquatic weed
2. Terror of Bengal

Choose the correct code-

Options :

1. * Only 1

2. % Only 2

3. % Both 1 and 2
4. * Neither 1 nor 2

Question Number : 185 Question Id : 753229995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Gﬂ%@ﬁm Egrse) (Eichhornia cra351pes) P WT NG %—

1. foy & ga9 31fYes TR I B 9T JAd WRUGAR




2. §7Td BT 3Tdd

el g -

Options :

1. % $Had |

2. % Had 2

3. Gl 1 3R 2

4. % A1 3RAE 2

Question Number : 186 Question Id : 753229996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is incorrect?

Options :

1. ® Smog formation is accompanied by Thermal inversion.
2. ¥ Smog stays in the upper layers of atmosphere.

3. # Exposure to smog causes respiratory problems.

4. ® Smog destroys crops and reduces crop-yields.

Question Number : 186 Question Id : 753229996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafead # 9 &1 91 Y= 7ad 82

Options :

1. % TN, dI9HH SShHUT YAl ST SchHUT & gRT §IdT1 5|

2. ¢ TN aRIHST B! SR TRal H gl g |

3. % WM& YUD H 3 F 49 Jaeft g gt g1

4. % T B! bl Y R d1 8 3R B B SUS HH B ST g

Question Number : 187 Question Id : 753229997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following statements is incorrect?

Options :

1. ¥ CNG though eco-friendly is expensive as compared to petrol or diesel.
2. % CNG burns most efficiently.

3. # CNG can’t be adulterated by petrol or diesel.

4. ® Very little of CNG is left unburnt.

Question Number : 187 Question Id : 753229997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foferfad & ¥ o 1 By Ted 82

Options :

1. ¢ HTe-Ton gTaifes Ui a1 Stord &1 g § He 1 & U] Udiavul & fole 3% d 7|
2. % TN T HIAAr ¥ STad g |

3. % USId 1 SioTd oY HTeon # fidrae T8 &t o 9ot g |

4. % YIToN &1 Sgd B AT 3T Sreft 35 et B

Question Number : 188 Question Id : 753229998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a primary pollutant?
Options :

1. # Carbon monoxide

2. ® Nitrogen Oxides

3. # Volatile organic compounds

4. ¥ Ground level ozone

Question Number : 188 Question Id : 753229998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeiead o & o urifiies gy 81 82

Options :



1. % PHo AASES

2. % AIECIoH RIS S

3. % qORfd HreH® Aie
4. ¢ qd 3ol

Question Number : 189 Question Id : 753229999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

To remove permanent hardness of water, we can add calculated amounts of—
Options :

1. ¥ Washing soda

2. % Hydrochloric acid

3. % Calcium chloride

4. ® Aluminium sulphate

Question Number : 189 Question Id : 753229999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

O &1 T HERAT B g HRA & o, g1 uRepferd AT e Ied © -
Options :

1. ¥ $US Y aTdd e b

2. ¥ BRIIFIND IS &

3. % PIRTH FIRSS &

4. % UGATH Gelbe &

Question Number : 190 Question Id : 7532291000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is considered to be the purest form of water?
Options :

1. ¥ Rain water



2. * Spring water
3. % Well water

4. % River water

Question Number : 190 Question Id : 7532291000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffad § @ 6 ofd &1 9ol g T AT 911 82

Options :
1. ¢ a9l &1 aR
2. % IRADIUMI
3. % YIRTd o
4. % T HIUH
Teaching Methodology
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Group Id : 75322955
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Group Minimum Duration : 120
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Group Marks : 10
Is this Group for Examiner? : No
Teaching Methodology
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Sub-Section Id : 75322965
Question Shuffling Allowed : Yes

Question Number : 191 Question Id : 7532291001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which day is celebrated as the International Women's Day?
Options :

1. # March 5

2. % March 6

3. % March 7

4. ¥ March 8

Question Number : 191 Question Id : 7532291001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fop faT o1 SfcRISTa Afgel faa™ & =0 | HHT Sl 82

Options :

1. % 59
2. % AR
3. % 7HE
4. ¥ 8 A

Question Number : 192 Question Id : 7532291002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In which of the following time did the concept of Non-Formal Education come into picture in India?
Options :

1. % Late 50s and early 60s

2. % Late 60s and early 70s

3. # Late 70s and early 80s

4. # Late 80s and early 90s

Question Number : 192 Question Id : 7532291002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRA H TR-URUR e ot srgyron fFAufeiad 7 9 g I9a IHRSR IriA a1
Options :

1. % 50 % I 3R 60 P IR

2. ¢ 60 & I 3R 70 F I

3. % 70 & I 3R 80 F I

4. % 80 % I 3R 90 & TRl

Question Number : 193 Question Id : 7532291003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For a child the concept of natural laws becomes almost fully developed by the age of -
Options :

1. # 8 years

2. % 10 years

3. % 12 years

4. % 6 years

Question Number : 193 Question Id : 7532291003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP 99 & o Wipfaes g &1 sraurRon v {69 39 ao 4 aRe faw R 8l ot 82

Options :



1. % 84T
2. % 1097
3.9 1291d
4. % 64

Question Number : 194 Question Id : 7532291004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year did the “USSR Experts of UNESCO Planning Mission” visit India on technical assistance project?
Options :

1. ¥ 1963

2. % 1967

3. % 1971

4. % 1975

Question Number : 194 Question Id : 7532291004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

GARD ! Io1 TR & JUITHSR faRIvs ford af depeiten! Ggradl URATSHT IR YR 37T 22
Options :

1. ¥ 1963

2. % 1967

3. % 1971

4. % 1975

Question Number : 195 Question Id : 7532291005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not a nature of science?
Options :

1. # Science is both a body of knowledge and a process.



2. # Science is a community enterprise.
3. ¥ Science is not for everybody.

4. # Science is a global human endeavor.

Question Number : 195 Question Id : 7532291005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrofefed # 9 o fagm 3 upla 181 82
Options :

1. % a9 99 &1 U g 3R U ufshar <A1 B
2. % o9 U IaRe ITH B

3. ¢ faue gR fobell & oy 2T &1

4. % Ta9T Ueb df¥yep A TR |

Question Number : 196 Question Id : 7532291006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is incorrect?

Options :

1. # Hypothesis is an educated guess based on the observation
2. ® Theory is an accepted hypothesis.

3. ® Natural law explains things, but do not describe them.

4. ¥ Scientific facts are believed to be dependent of the observer.

Question Number : 196 Question Id : 7532291006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad & ¥ o 91 HY= Ted 82

Options :
1. % URGHT Saalie- R TIRA FGAMT I TR T A G |
2. % RIgid To Wied RS |




3. % Ui FaH aegsfl &1 WP d #xd g, R 3961 90U T8l & 5|
4. ¢ IS T dipThdl R R TR

Question Number : 197 Question Id : 7532291007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which factors affect learning?
1. Maturation

2. Readiness to learn

3. Learning environment
Choose the correct code.

Options :

1. % Only 1 and 2
2. % Only2and 3
3. % Only 1 and 3
4.4 1,2 and 3

Question Number : 197 Question Id : 7532291007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
B Y HRB SAATH B! IHTRIT PR 82
1. gRUehdr

2. YR B TR

3. 4iga 1 e

Tl ple |

Options :

|. % Ppad | 3R 2
2. % Had 2 3R 3
3. % PHad | 3R 3
4.9 1,233

Question Number : 198 Question Id : 7532291008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In the management of group-learning, which kind of grouping might lead to the labelling of few students as bright and few as weak?
Options :

1. ¥ Grouping students by ability

2. % Grouping students by interest

3. % Grouping by students' choice

4. % Random student grouping

Question Number : 198 Question Id : 7532291008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

- &0 & UeeH H, g TSR & TEIaR0 ¥ $© el BuTdt ofR $© HHeIR fafd 8l 9ahd 82
Options :

1. ¢ TGl & STYR TR FYgIHRI

2. % Wy YR R [qgial o1 gggiaRu

3. % foulidl & SR THEIHRU

4. % A faendf agg

Question Number : 199 Question Id : 7532291009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which chapter of the Right to Education Act, 2009 provides for the Protection of Right of Children?
Options :

1. %V

2.¥ VI

3. % VII

4. % VIII

Question Number : 199 Question Id : 7532291009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fRrem o1 fIBR AR, 2009 BT B TT AT T & MYBR P TREJT HT YT HdT g2
Options :

L%V

2.¥ VI

3. % VII

4. % VIII

Question Number : 200 Question Id : 7532291010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following organisation has taken the stand ‘Discriminatory behaviors take many forms, but they all involve some form of exclusion
or rejection’?

Options :

1. ¥ WHO

2. ¥ UNO

3. ¥ MADRE

4. # Equality Now

Question Number : 200 Question Id : 7532291010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied o 9 ford T &1 U8 aaad g f Mg Haqul a8R &S ¥U ad &, dfde- 4 9t fasddt 7 fpedt = u o sfesaor a1 srdiefa o
QM Hd &2

Options :

1. % ST

2. ¢ QA

3. % TN

4. % IpicIet A3




